11131

AMERKE

= X% Cal)

I TEEHR—E

(5641083 1 HUK: AETEHEwEA)

LLmERKEER
Bl =




& # — B =

HHEh [I-FNo % 1ERK TR EMES TR H (RRENREECFEMESI 121 T)

No. [THH% B % 14 I 2 3 4 5 6 7 8 9 10 [ 11 [ 12 [ 13 | 14 | 15 | 16 i &

4001 |t I#@|JILF—HEEfEE (HE@)| 1.0 13 99 2085 420/80=5.3h/H
3 St THE N AR SR 2 0%| FERE | 0.190[ 4.200|  1.000

4002 |+ #BE|JILF—HEERZEE GEB)| 1.0 13 99 2091 420/80=5.3h/H
3 |11t THedhAxtEER EIHe ow] BERS ] 0.190( 11.000[ 1.000

4003 |t #BE|JILF—EERZEE GEE)| 10 13 99 2092 420/80=5.3h/H
3 |11t THen AR Egesy | BERS ] 0.190[ 11.000[ 1.000

4004 |t #BE|JIF—HEEZEE @] 10 13 99 2093 420/80=5.3h/H
3 |15t THempantsEs Eme on] BERS ] 0.190] 14.000] 1.000

4005 [t T#5E|JILF—E&RZE HE@)| 1.0 13 99 2094 420/80=5.3h/H
3 |15t THeinAxse® #igoon | BER | 0190 14.000( 1.000

4006 |t T#5E|JILF—HEEfEE (HE@)| 1.0 14 99 2095 750/120=6.3h/H
3 |21t THemmaxsER 28 ow] BERE ] 0.160[ 22.000/ 1.000

4007 [+ T#5E|TILF—HEEEE HE@)| 1.0 13 99 2096 750/120=6.3h/H
3 o1t e AxtsER Eimosy | BERE ] 0.160( 22.000/ 1.000

4008 |+ T #5E|JILF—HEEEE (HE@)| 1.0 13 99 2098 770/120=6.4h/H
3 18t Yy T HEH A AT R 12088 0% | BRI 0.160| 20.000| 1.000

4009 |+ I#E|TILF—HEEZEE HEB)| 1.0 13 99 2086 420/80=5.3h/H
3 3t THEHN AxT SRR 05| BRI | 0.190[  4.200|  1.000

4011 |£IT#E[/ NV ORDEGZEE (H@)| 1.0 13 99 2422 690/110=6.3h/H
3 1L10.45m3 (£0.35m3) aittﬁix?ﬁiﬂﬁéw%&rﬁ) FiE 0% H:TrfFEﬁ 01 60 8600 1 000

4012 [T #B|/\vIRDEEGRE (@) 1.0 13 99 2126 690/110=6.3h/H
3 1110.50m3 (F0.40m3) HEHA A5 EE (F1RBAEM) B 0% H%Fﬂﬁ 01 60 9200 1000

4013 [T #3B|/ SR BERE (@) 1.0 13 99 2416 690/110=6.3h/H
3 1L10.80m3 (F0.60m3) Bt A A5 A (SE1RBEAEM) FIR 0% H:T‘-fFHﬁ 01 60 1 5000 1 000

4014 [T #5E[/\voRIBEREE GLE)| 1.0 13 99 2815 690/110=6.3h/H
3 110.50m3(F£0.40m3) HHiH R A (HIRZANM) BN 0% E:-rfFEﬁ 0.1 60 9.200 1.000

4016 (T #5E|/\vokEEmEE  Gt@| 1.0 13 99 2120 690/110=6.3h/H
3 1110.28m3 (F£0.20m3) FE i A3 RN SE2R I (M) FIE 0% B%Fﬂﬁ 01 60 5900 1 000

4017 [T #5E|/ SR BERE (@) 1.0 13 99 2123 690/110=6.3h/H
3 1110.45m3(F0.35m3) ﬁﬁkﬂfﬂﬁ&{%w&&@! B 0% H:{FFEﬁ 0.1 60 8.600 1.000

4018 |+ T #3E|/ N\ IR BEARE (@) 1.0 13 99 2124 690/110=6.3h/H
3 1L10.45m3 (F0.35m3) HEHIA A E R (2R BHEE) B8 108 H:T‘-fFEﬁ 01 60 8600 1 000
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4023 |t #@E |/ N\ v o BERE (&) 1.0 13 99 2132 690/110=6.3h/H 1/6.3=0.16
3 1L10.80m3 (F0.60m3) HEHH A A (H2RAHE) #1180% H:-rfFEﬁ 01 60 15000 1000

4024 | T @/ \v IR EERRE (@) 1.0 13 99 2133 690/110=6.3h/H 1/6.3=0.16
3 1L10.80m3 (F0.60m3) Btk A R (F2RHMAENE) iR 105 H#Fﬂﬁ 01 60 15000 1000

4025 | T @/ \ v IR EER iR E (@) 1.0 13 99 2134 690/110=6.3h/H 1/6.3=0.16
3 1L10.80m3 (FF0.60m3) HEHIH A3 R (FoRBAEM) F) 254 H%Fﬂﬁ 0160 15000 1000

4026 | T @/ Ny RYEERRRE (@) 1.0 13 99 2798 690/110=6.3h/H 1/6.3=0.16
3 1111.0m3 (F£0.70m3) HeihiH A% A (FE2RIENE) Fi 0% H%FEﬁ 0160 17000 1000

4027 |2 T HE|/ v ORDBERE (&) 1.0 13 99 2799 690/110=6.3h/H 1/6.3=0.16
3 1L11.0m3 (F£0.70m3) ukmnzﬁi&(%zk&ﬂﬁ) B 10% H#FEﬁ 0160 17000 1000

4028 |t I R@|/ \wohBinRE (Z@)| 1.0 13 99 2800 690/110=6.3h/B 1/6.3=0.16
3 1L11.0m3(F0.70m3) HHiH Rt SR (2R N) E|iE 254 E%Fﬂﬁ 0160 17000 1000

4029 |t T #@E |/ \voRDBERRE (@) 1.0 13 99 2421 690/110=6.3h/H 1/6.3=0.16
3 R weo | FREE] 0.160{ 15.000 1.000

4057 || EHRIR (B@fFE8) | 1000] 2 4002
2 |11tJILE— #(ﬁw m2 0.270|  0.670

4058 |#1-2-10)| BEMPRIE (EH@IEXE) [ 1000 2 4002
2 NItTILE—=H () m2 0.340| 0.840

4059 |#t1-2-10)|BEMBRIE (EH@1EXEB) [ 1000 2 4002
2 [1tJIE—H(FE#) | m2 | 0400 1.000

4061 | #1210 MERIE (T@1EXS) | 1000] 2 4004
2 15tTILE—H (B#) m2 0.130] 0.330

4062 |#t1-2-10)|BEMERIE (E@IEXE) [ 1000 2 4004
2 [I5tTILR—H (F#) m2 0.170|  0.420

4063 |#1-2-10)|BEMERIE (H@IEXE) [ 1000 2 4004
2 1I5tTILE—H (FE#) m2 0.200|  0.500

4065 (st1-2-10|HEMBRAE (TEIEEE) | 1000 2 4006
2 |21t ILE—H (E#) m2 0.100{  0.250

4066 |#1-2-10)|BEMPRIE (H@IEXE) [ 1000 2 4006
2 2117 JLE—H (k) m2 0.120 0.290

4067 |si-2-10|HEMERIE (TBMEXRR) | 1000 2 4006
2 [21tTILRE—H (FE#H) m2 0.130] 0.330

4069 |sti1-2-10|#EMERIE (LARPFSI) | 1000] 25 4017 P R F B2 R R )
2 BH=1110.45m3(F£0.35m3) [E#]1| m2 0.030] 0.800

4070 [#1-2-10)|HMERIE (LARFEFI) [ 1000| 25 4017 PR R 2 R (B2 BB
2 BH=1110.45m3(F0.35m3)[FF 4] | m2 0.040| 1.010

4071 [st1-2-1)|#EMER4E  (QLUARRPESI) | 100.0] 25 4017 P AR E R (2R )
2 BH=1110.45m3(F0.35m3) [F#]| m2 0.050 1.220

4073 |s1-2-10|HEBRAE (E@E%E) | 1000 2 4017 PR R R (B2 R BB
2 BH=1110.45m3(F0.35m3) [BE#k]| m2 0.030 0.800
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4074 | #1210 | FEMRRGRAR (@ fEER) | 1000 2 4017 P R R R (R A NE)
2 BH=1110.45m3(F0.35m3) [FF#k]| m2 0.040 1.010

4075 (st1-2-10)| BEMRBRAE (Z@1E%EE) | 1000 2 4017 PR R R R (R NE)
2 BH=1110.45m3(F0.35m3) [F#]| m2 0.050 1.220

4077 |sti1-2-1|#EMERIE  (LUARRPESI) | 100.0] 25 4023 P AR E R (2R )
2 BH=1110.80m3(F0.60m3) [B#k]| m2 0.030 0.460

4078 |st1-2-10|HEMERIE (LLARRDBEI) [ 1000] 25 4023 P AR E B (E2 R B
2 BH=1110.80m3(F0.60m3) [FF#k]| m2 0.040] 0.580

4079 |st1-2-10|HEMERIE (LUAREEI) | 100.0 25 4023 P R R R R HENE)
2 BH=1110.80m3(F0.60m3) [F#]| m2 0.050] 0.700

4081 | #1-2-14)| EMIRIE (Zo@IEXEE) | 1000 2 4023 HEHH R 3 R (B2 R BB
2 BH=1110.80m3(£0.60m3) [Bf#k]| m2 0.030] 0.460

4082 (st1-2-10)|HEMBRAE (Z@BIEEE) | 1000 2 4023 P AR R (2R AN
2 BH=1110.80m3(F0.60m3) [F#]1| m2 0.040 0.580

4083 (st1-2-10)|HEMBRAE (Z@EIEEE) | 1000 2 4023 HEHIH R 3 R (2 R BB
2 BH=1110.80m3(F0.60m3) [FE#]1| m2 0.050| 0.700

4085 | #1-2-15)| 1FEREE AT (L#ARBLFI) | 100.0 25
1 m2 0.420

4086 |#1-2-1(5)|2FE 4 & A4+ (LR I) | 100.0 25
1 | m2] o710

4088 |#1-2-15| 1R EF T (E&E/E%£8) [ 100.0 2
1 m2 0.420

4089 |#1-2-105)|2f8 Sk 14 (E&@EZ%£E)| 1000 2
1 m2 0.710

4092 | H1-4|esoirnsnon-sasiwssrs) | 100.0 25 B2 EEBIZONTILBIRE £
1 m3 7.000

4093 H1-4|srroianinon-wEs)Easza) | 100.0 2 22 SEEDIZDNTILBIRE L
1 m3 7.000

4096 |#£1-10-1 |0 LEE MM (L#FE5T) | 100.0 24 25 4016 BH=1L10.26m3 (Hh 49 R 31 B B2 R 8 4 0)
3 BH=1110.28m3 #p~¥EtE L[ m2 0.300 2.000 5.300

4097 |#£1-10-1 |9 L EmE BRI (L#FET) | 100.0 24 25 4016 BH=1L10.26m3 (B 47 R 31 B2 R L 40
3 BH=1110.28m3 MEL [ m2 0.500 2.100 7.000

4098 | #H£1-10-1|LEEm MMM (LR T) | 100.0 24 25 4016 [ ———
3 BH=110.28m3 &R~ EA(I)A| m2 0.600] 3.100] 9.600

4100 |#£1-10-1 |9 EmE BRI (L#HEET) | 100.0 24 25 4017 BH=1L10.45m3 (Pt R SR B2 R A4 )
3 BH=1110.45m3 #b~#EtELt[ m2 0.300 2.000 4.300

4101 |#1-10-1 | Em BB (LR T) | 100.0 24 25 4017 [ ————
3 BH=1110.45m3 e+ [ m2 0.500 2.100 5.600

4102 |#1-10-1 |y LsaEmB R (uMERT) | 100.0 24 25 4017 [ R———

BH=1L10.45m3 &M~ EE(I)A| m2 0.600| 3.100] 8.200
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4104 |#£1-10-1 |9t xmBRiHgH (LUHEET) | 100.0] 24 25 4023
3 |BH=1110.80m3 Fp~#htt+| m2 0.300f 2.000] 3.200
4105 |#£1-10-1 [y L mBmigH (LK) [ 100.0] 24 25 4023
3 |BH=110.80m3 MEL| m2 0.500{ 2.100] 4.200
4106 |#t1-10-1 |1t x@mBEmisH (LUHBKHT) [ 100.0] 24 25 4023
3 BH=110.80m3 E#~#E(I1)A| m2 0.600 3.100 6.800
4108 %1_10_] miiﬁ@%ﬂg[ﬁm](%ﬁfﬁﬁﬁ) 1000 24 2 4016 BH=1110.28m3 (Hi th H A BB R B 4 )
3 |BH=110.28m3 Bh~$EEE]| m2 0.300) 2.000[ 5.300
4109 ;151_10_1 tﬂiffﬁ%ﬁ?[%m](%ﬁf'ﬁ%ﬁ) 1000 24 2 4016 BH=1L10.28m3 ($ i 2 3 AL (M2 R M4 48))
3 |BH=110.28m3 MEL| m2 0500 2.100] 7.000
4110 [#£1-10-1 |91t xmBEmism) (F@Exa) | 100.0] 24 2 4016
BH=1L0.28m3 #i~8E(1)A| m2 0.600f 3.100| 9.600
4112 $1-10-1 YL iEmBREER] (EREES) 100.0 24 2 4017 BHAALIO 45m3 (A A HEF2R L)
BH=1110.45m3 Fp~#EtE+[ m2 0.300{ 2.000| 4.300
4113 |#£1-10-1 |9 L EEERUEH] (EBEE8) | 100.0 24 2 4017 BH=1L10.45m3 (5 R H B G2 AR HE)
BH=1110.45m3 MEL| m2 0.500f 2.100| 5.600
4114 |#1-10-1 [t rmBmiss) (r@ex8) [ 1000] 24 2 4017
3 BH=110.45m3 Eif~#E(I1)A| m2 0.600 3.100 8.200
4116 |F1-10-1 |9 EEBERUSH] (EREEZS) | 100.0 24 2 4023 oo st i ARG )
3  |BH=1L10.80m3 Fp~#5tEE+| m2 0.300f 2.000| 3.200
4117 |#1-10-1 [yt xmBmisH (rEELze) | 100.0] 24 2 4023
3 |BH=110.80m3 MEL| m2 0.500f 2.100] 4.200
4118 |#1-10-1|9tmem e (rErza) | 1000] 24 2 4023
3 |BH=1L10.80m3 Ei~#E(1)A| m2 0.600f 3.100] 6.800
4120 |#t1-10-2| @t xmBEmiH (LHeKHT) [ 1000 24 25 4016
3 |BH=110.28m3 Fb~%E+| m2 0.100f 0.700] 4.400
4121 |#1-10-2|mtmEmism (LuHspkT) | 100.0] 24 25 4016
3 |BH=110.28m3 MELT| m2 0.100f 0.500| 3.900
4123 |#1-10-2| @t meEmism (LuHspET) [ 100.0] 24 25 4017
3 |BH=110.45m3 Fy~fhit+| m2 0.100| 0.700] 3.500
4124 | #1-10-2| @t mBRigH (LUHEET) | 100.0] 24 25 4017
3 |BH=10.45m3 MEL| m2 0.100f 0.500| 3.100
4126 |#£1-10-2| @+ xmBmigH (LuHBET) [ 100.0] 24 25 4023
3 |BH=110.80m3 Fh~#E+| m2 0.100f 0.700] 2.600
4127 |#t1-10-2| @t xmBmigH (L) [ 100.0] 24 25 4023
3 |BH=110.80m3 MEL| m2 0.100f 0.500] 2.300
4129 |#t1-10-2| Bt @ BEmigH) (FEkrLs) [ 1000 24 2 4016
3 |BH=110.28m3 Eb~#EEL| m2 0.100| 0.700{ 4.400
4130 |#t1-10-2|mtxmBEmigm) (FEnrgzs) [ 1000 24 2 4016
3 |BH=110.28m3 MEL| m2 0.100| 0.500] 3.900
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4132 |#1-10-2| e+ mEm W (EEnLa) [ 1000] 24 2 4017
3 |BH=110.45m3 B~ E| m2 0.100] 0.700] 3.500

4133 [#1-10-2|t xEmEm M (EErLa) [ 1000] 24 2 4017
3 |BH=1L0.45m3 REL| m2 0.100] 0.500[ 3.100

4135 |#1-10-2|mt rEmEMIEH (Lanza) | 1000] 24 2 4023
3 |BH=110.80m3 Eb~#EHEL| m2 0.100] 0.700[ 2.600

4136 |#1-10-2|mtsEmBEpim (EanLa) [ 1000] 24 2 4023
3 |BH=110.80m3 ME+]| m2 0.100) 0.500[ 2.300

4138 |3t1-10-3[#MmIc L B8 (L F) =z () | 1000 24 2 4023 I
3 BH-1L0.80m3 B ~BbE+. fitt+. et | m2 0.400 0.900 4.000

4140 [#1-11-1| NS D L ERIEEFEE]| 1000] -24 -2 1000
3 BB M BEE SR EE KEDA | M2 0.700 5.900 1.000

MM (-t Ah YL EREEEZE]] 1000 -24 -1 -2 1000
4 |ses(DB. (D, hEE EE| m2 1.900| 5.100] 6.500| 9.000

4143 [#1-11-2[ Anga (e =pEanrzal| 1000] 24 2 4144
3 |M-mEL L m2 0.800| 4.300[ 0.800

4144 |s1-11-20)| 5o BERE ANE (3 ER) | 1.0 1 100 2302 PRELHE R 3.0kwk0.398%5.0
3 |60~80kg H 1.000| 6.000] 1.000

4150 * ok ok [LIHGALL (A) * * *

4151 [s1-1-40[m-WoE+ v+ EL miE | 1.0 | 4315
1 | essnsesummnmesms s s = | m3_|=170.000

4152 [s1-1-a0|m-moE+ e+ et i | 1.0 | 4315
1 fovsers eeromsimmemessn m manws = | M3 |=120.000

4153 3@.1—1—4(1)75@% EE EXE(I)A #E 1.0 4315
1 fovsers seeromsimmemensn mmer w2 | M3 |=130.000

4154 [Aan|2R-E5-Ha( DA K| 10 | 4315
1 s womrsosmmmsss s wanus - | M3 | =84.000

4155 | 381-1-401)|#reE( 1B 8E(DERIE (RREBE) 1.0 | 4315 wE+ IL—X
1 e snasssmmommmmsnene e = | M3 |=180.000

4156 | A1-1-4()|ma - BE DRE @Ak | 1.0 | 4315 BELT IL—X
1 fooies mssessmsmemmsnemns v = | M3 _|~130.000

4157 [sa1-1-a1) DMEE EEE(EM?#E) KiE| 1.0 | 4316 BHREE L—X
1 | ssmensmmmmsnsoms »me s | M3 _|~120.000

4158 [sa1-1-41) DMEE ﬁia(ﬁ&ﬁ&a) iE| 1.0 | 4316 HHE L—X
1 | ssmessmmemmsnemnn vme - |_m3_ | =67.000

4162 5{:?1—1—4(1)G',L*-F)Ei-%&ﬁiv&ﬁi-ﬁﬁ(I)A-B-&E(H) mg 1.0 4315
1 fovuos suses susmammssmnsns s | m3_|=180.000

4163 |[:81-1-401)|w-mwxt wie+ wxt v Oas-0Em 28 1.0 4315
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4164 a0 &8R- ERA EBRE 1.0 | 4315
1 s s mssmsmnssmsns s w0 | M3 _|~150.000
4165 |3t1-1-401) Eiﬁa EE iij:é 1.0 | 4315
1 fovines s sarmmnmssnmns s 2 | M3 _|~100.000
4166 |sz1-1-4(1) :PT:EE EEE(E&ﬁ»rE) iEE 10 | 4316
1 s pmmsmsssanans von | M3 |=120.000
4167 |:81-1-401) EPEEE EEE(E&E»rE) tEE 1.0 4316
1 oo msmssersmsmsrnisns e s | M3 | =67.000
4171 3’51—1—4(1)E’}‘-E’L‘Ei-*ﬁ'l“.-ti-ﬁ%ﬁi wiE| 1.0 | 4312
1 ovsosn assssmammmsmmseansns s o | M3 | =97.000
4172 |sa1-1-a0|m-mE L4t e+ RiE| 1.0 | 4312
1 =10 45m0 MRS & 5 A3 (RORESMD AEMT) AI-ID TR m3 _67000
4173 |sa1-1-40) Etﬁz ER-EE(DA r“#JE 1.0 | 4312
1 fovusies ssses susmmssssmnsns s 1 | M3 _| =77.000
4174 |s1-1-401) Etﬁa IE MEU)A #JE 10 | 4312
1 fovusies mses susmmssmmsnmmsns s s | M3_| —48.000
4175 ;'é.‘1—1—4(1)Ek%(l)s-iﬁ%(u)lﬂﬂ(ﬁ&%mﬁ%) 1.0 4312 BE+ IL—X
1 louwen soumssmmms mansmmsms »m | M3 _|=110.000
4176 | :81-1-400)| 8 1)B- B (DERIE (EE: B 1R %) 1.0 4312 e+ JL—X
1 i s s o | M3 | =77.000
A177 |sa1-1-a00| RS -1 (BRRES) BRIE[ 1.0 | 4313 s L—X
1 [ asursssmmsmmsennsss mase | M3 | —=67.000
4178 |sa1-1-40n) :FEEE EEE(EM &) KiE| 1.0 | 4313 BWRE L—X
1 m3_] -39.000
4182 3{:’?1*1*4(1)&L-FLEi-#&&i-&Eiiﬂs(l)AEiﬂﬁ(H) wg 1.0 4312
1 fovuons suuns sussmpsmmssuune o e | M3 |=110.000
4183 |:a1-1-401) | wut wie+ mat - Oas-0am 285 1.0 4312
1 lsven semmsssimemssnsnams »me | M3 | =77.000
4184 |s1-1-401) Eiﬂ IE ii}% 1.0 | 4312
1 fswens mesmssssmmzmesnsans o e | M3 | =86.000
4185 |3#1-1-41) Eiﬁ EE iEJi 1.0 | 4312
1 s s mssenns s | M3 | ~58.000
4186 |:a1-1-4(1) EPEEE EEE(WP#E) HE( 1.0 4313
1 s s s o w | M3_| =67.000
4187 |st1-1-40n) :PI:EE ﬁa(ﬁﬁﬁem #r[ 1.0 | 4313
1 s s s s s o | M3 | =39.000
4191 sa1-1-4<1>w-@ﬁi-%mi-mﬁi wiE | 1.0 | 4315
1 ovuons muss mumssmsssramuns sus ae | M3_|=120.000
4192 |s1-1-a|m-mEL i+ e KiE | 1.0 | 4315
1 oo s mermmsnsssns sas 2 | M3 | —84.000
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54 [3—FNo = #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [TEEE i) & 108 I 3 4 5 6 7 8 9 10 [ 11 12 | 13 | 14 | 15 | 16 i# =
4412 [1202-01| 7 )LE—H REEL 100.0[ 4002 SIEE3mELT
1 |[FILE=H11tk m 0.320
4413 [#202-01| T ILF—HF R EHL 100.0| 4004 ZSEE3mB L
1 |FILE—HF 15tk m 0.280
4414 [H1-9-1|TLRF—HEHLEEFLE)| 1000 4415 2
2 3tk B A AR ER g 1agEm [ m3 0.770 0.300
4415 | H1-9-1|TVF—HE&iEE Eual)| 1.0 13 99 2097 EEER
3 |ourmsizxsmm miksem | H 1.000| 24.000/ 1.580
4421 |so2-1(n[/NERIFREHEREEGRZEE| 1.0 4422
1 Ha—SE pESTH20t| B | -6.900
4422 |so-2-1()|[/NEIR B EEEL IR E | 1.0 13 99 2476 PREL 0.114%23%6.9=18.1
3 |[yo—S& mESIK20t| H 1.000( 18.100[ 2.180
4425 | #2-2-2|F BB EELEE 10 | 4426
1 |#n—S% lES > TK6.0t| BRI | -6.900
4426 |2-2-2| F B B EHEEL R E 1.0 13 99 2831 PA¥L 0.114%150%6.9=118.0
3 |yo—smmEyIeoenm| H 1.000{ 118.000f 2.180
4427 | #H2-3|[NJLRaUATERAE) | 440 | 4437
1 (BBt L m3 1.000
4428 | #H2-3[NLRaUATERAE) | 31.0 | 4437
1 |feEt _ m3 1,000
4429 | H2-3[NJLROUATERRAE) | 250 | 4437
1 [Bl-FER-EHE(1)A m3 1.000
4430 | H2-3|NJLFaURTERROE) | 26.0 | 4437
1 |avsy—k m3 1.000
4431 | #H2-3[R)LFaUARTEROE) | 39.0 | 4437
1 |BR-ER m3 1.000
4432 | #H2-3[R)LPaUARTIERQE) | 440 | 4438
1 (F-mEL -t m3 1,000
4433 | #H£2-3|N)LRhaUARTEWR(QE) | 31.0 | 4438
1 |feEt _ m3 1.000
4434 | H2-3[N)ILPIUARTEWRQRE) | 250 | 4438
1 |EBR-FER-EHE(IA m3 1.000
4435 | #H2-3|RN)LRaUATEWR(QE) | 260 | 4438
1 |avs—k m3 1.000
4436 | #H2-3[RNLRaUATEWRQE) | 390 | 4438
1 |BWH-ER m3 1.000
4437 | #H2-3[RJLFOAVARTIEELRE 1.0 100 2 2383 W3 1.30/h X 7Th=9.12
Imk=47°1 18 =] 9.100] 4.000[ 1.000
4438 | H2-3|R)LhaRTIEERE 1.0 100 2 2383 PRE 1.30/h X Thx 2=18.20
Imik'—47° ) 2& =] 18.200] 4.000| 2.000
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54 [3—FNo = #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =
4440 [¥2-6(8)| % & (ILMEDFHL) 1.0 | —2895 | -2899 | 1000 25
4 |3.0m*3.0m=9m 2= 0.200] 0.700] 20.000( 7.000
4441 [#2-68)|88 & (TaEEES) 1.0 | -2895 [ -2899 | 1000 2
4 |3.0m*3.0m=9m = 0.200] 0.700] 20.000( 7.000
4443 | H2-7[FU TSV OB E 1.0 14 99 2175 | 2194 830/140=5.9n/H 1/59=0.17
4 |10tE (B IF 0%) BFRS | o0.170[ 9.800] 1.000] 1.000
4444 | H2-7[FU TSV OB E 1.0 14 99 2175 2195 830/140=59h/B 1/5.9=0.17
4 |10tEE (& 0%) BERI |l 0170/ 9.800| 1.000| 1.000
4445 | H2-7[FU TS OB E 1.0 14 99 2175 2196 830/140=5.9n/8 1/5.9=017
4  |[1OtE (R 0%) BER| 0170 9.800[ 1.000[ 1.000
1446 | X275 o JovBnn e 1.0 14 99 2169 2185 830/140=5.9h/8 1/5.9=0.17
4  |ME(RIF 0%) BfE | 0.170] 5.400( 1.000[ 1.000
4447 | H2-7|H TSV B E 1.0 13 99 2169 | 2186 830/140=5.9n/8 1/5.9=0.17
4 |ME(EE 0% BFRI | 0.170] 5.400{ 1.000| 1.000
4448 | E27|F TRV B GnRE 1.0 13 99 2169 2187 830/140=5.9h/H 1/5.9=0.17
4 |#E(FE 0% BFRI| 0.170] 5.400{ 1.000| 1.000
4459 |#£3-1-5|a oy —re@EEUHEET)| 100 | —24 -25 1000
3 |EHEEY m3 0.080[ 0.250| 10.000
4460 |2£3-1-5[avoy—ra@EsqusasT)| 100 | —24 -25 1000
3 |BEEEY m3 0.050] 0.130| 21.000
4461 | #£3-1-5|avoy—rE@ssousmpirT)| 100 | -24 -25 1000
3 |/DEEEY m3 0.180] 0.520{ 13.000
4463 [3#£3-1-5|avoy—re@ns@ELzs)| 100 | -24 -2 1000
3 |EmEEY m3 0.080] 0.250( 10.000
4464 (#£3-1-5|avoy—re@ns@ELzs)| 100 | -24 -2 1000
3 |BHHEEY m3 0.050f 0.130] 21.000
4465 #£3-1-5|avoy—re@Ens@EELzs)| 100 | -24 -2 1000
3 /DEIEEY m3 0.180| 0.520| 13.000
4467 |sts-1-62)|av oy —MEBEEWHBET)| 100 | —24 -25 1000 | 4475
4 |EHBEYY 4R E] m3 0.210| 0.600| 11.000| 1.600
4468 | sts-1-62)|a oy —MEREEWKBET)| 100 | -24 -25 1000 | 4476
4 |SEEEYY 4B AE m3 0.120| 0.350( 22.000{ 1.800
4469 (sts-1-6)|avou—MEBEEWHBKETD)| 100 | -24 -25 1000 | 4477
4 |/DEEEYY obe—4BE| m3 0.690| 2.000{ 28.000{ 7.800
4471 [sa-1-6)|av oy —MEBEEEEELS)| 100 | -24 -2 1000 | 4475
4 |EmEEY e—4EAE| m3 0.210] 0.600| 11.000[ 1.600
4472 [sa-1-6)|av oy — BB EELE)| 100 | -24 -2 1000 | 4476
4 |SkERtEEYY obe—4EA| m3 0.120] 0.350| 22.000[ 1.800
4473 [sta-1-6)|av oy — BB EEEELE)| 100 | -24 -2 1000 | 4477
4 |INEREIEYY -84 m3 | 0690 2.000] 28.000( 7.800

.16
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4475 | #3-1-62)| LYNE—DIBBnin & 1.0 101 2544 18.5h/H
2 |\ 30,100KkcAll B | 66.600[ 1.200

4476 | #3-1-60|V IyM—EEn X & 1.0 101 2544 15.2h/H
2 |$smsgsA 30,100kcAll B | 54.700[  1.200

4477 | #1620V I —H B IR B 10 [ 101 | 2544 20.1h/H
2 [/NEYREEEYER 30,100KcAll B | 72.400( 1.200

4479 |st3-1-6|ar sy —mEBEEWHBED| 100 | 24 -25 1000
3 |EGHEEY BREE m3 0.250| 0.720] 19.000

4480 |st3-1-6)|ar sy —rEBEEWHBED| 100 | 24 -25 1000
3 |MEEEY BRELE | m3 | 0150/ 0440 20.000

4481 | #t3-1-62)|av sy —MEBEEWHBET)| 100 | 24 -25 1000
3 EIEEY BiEHE m3 0.460| 1.300| 26.000

4483 | sta-1-602)|a oy —MEBEEEEELZE)| 100 | 24 -2 1000
3 |EEHEEY BiEHE m3 0.250| 0.720| 19.000

4484 |sta-1-62)|a oy —MEBEEEEELZE)| 100 | 24 -2 1000
3 |BEEEY BikEE m3 0.150f 0.440| 20.000

4485 | #t3-1-602)|ar v —MEBEEEEELZE)| 100 | 24 -2 1000
3 [NEEEY) HiRELE m3 0.460] 1.300| 26.000

4494 |:B2-1-5|R> FEITHA (UMHEEET) | 100 | -24 -1 -25 | -4532 | 1000 &1y EE R E
5 [FAWS L S AZ#14m3/h| m3 0.200] 0.300| 0.800[ 0.710] 1.000

4495 |;R2-1-5|R> TEITERA (LUMEEFI)| 100 | -24 -1 -25 | -4532 | 1000 1B RE
5  [AWSL AR 4Z#16m3/h| m3 0.200| 0.300] 0.800] 0.630] 1.000

4496 |;B2-1-5|R> TEITHA (UMHEEFT)| 100 | -24 -1 25 | -4532 | 1000 1 - BE AR
5 AL T Z420m3/h| m3 0.200) 0.300] 0.800[ 0.500] 1.000

4497 |iB2-1-5|R> TEITHA (LUHEEFT)| 100 | -24 -1 -25 | -4532 | 1000 1A AR
5 AWML HEES {Z#25m3/h| m3 0.200) 0.300] 0.800[ 0.400 1.000

4498 [52-1-5|RoTEITHA (LT[ 100 | 24 -1 -25 | -4532 | 1000 E1-BERE
5 [AISL 88 $Z2%11m3/h[ m3 0.200) 0.500[ 0.800] 0.910[ 1.000

4499 |:A2-1-5|/RU TEITHA (LAHEEEI)| 100 | -24 -1 -25 | -4532 [ 1000 ERPEE-L TS
5  [BILSL 88 $2%12m3/h[ m3 0.200] 0500/ 0.800] 0.830] 1.000

4500 [;52-1-5|RTEITERA (LU#EET)| 100 | 24 -1 -25 | -4532 | 1000 R
5 AL $REF Z#14m3/h| m3 0.200) 0.500| 0.800[ 0.710] 1.000

4501 [;52-1-5|RoTEITHRA (L#MEEET)| 100 | 24 -1 —25 | -4532 | 1000 1 BERE
5 [BIUSL 85AS $Z420m3/h [ m3 0.200/ 0.500| 0.800] 0.500[ 1.000

4503 [;B2-1-5|RoFEITEHB (LMEET)| 100 | 24 -1 —-25 | -4532 | 1000 1 BERE
5 [ABIUSL EE Z410m3/h [ m3 0.300| 0.600] 1.500| 1.000[ 1.000

4504 |;B2-1-5|R> TETERB (UML) | 100 | —24 -1 25 | -4532 | 1000 1 - BERE
5 AWSL 8555 4Z% 8m3/h| m3 0.300| 0.800] 1.500] 1.250] 1.000

4510 [;B2-1-5|RoTEITHRA (EEELE)| 100 ]| -24 -1 -2 | -4532 | 1000 1 - BE AR
5  [AISL EE Z%14m3/h [ m3 0.200| 0.300| 0.800] 0.710] 1.000
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S8 [3—F No % 353 LW& MBS FREDE (ERBENRERICE m%%: - Jéh‘?’)
No. [IEEZK fE] % B 2 12 13 14 15 16 i %
4511 |3B2-1-5| RO TEITHA (Z@EEZLE)| 100 ]| -24 -1 —2 —4532 1000 £1y-BERE
5 [AISL EE $Z416m3/h[ m3 0.200) 0.300] 0.800[ 0.630] 1.000
4512 |iB2-1-5|RTHEITHA (Z@EEx£8)| 100 ] -24 -1 -2 -4532 [ 1000 E1U-BEERE
5 ALY L EE Z%20m3/h| m3 0.200) 0.300] 0.800[ 0.500] 1.000
4513 |;B2-1-5[/RUTEHITERA (EEEES) | 100 | -24 -1 -2 -4532 | 1000 E1v-BHERE
5 ALY L S Z%25m3/h| m3 0.200) 0.300] 0.800[ 0.400] 1.000
4514 [352-1-5| R TEITHA (E@ELE)| 100 | -24 -1 -2 -4532 | 1000 E1-BERR
5 [BILSL 88 $Z2%11m3/h[ m3 0.200) 0500/ 0.800[ 0.910/ 1.000
4515 [52-1-5| R TEITHA (E@ELE)| 100 | -24 -1 -2 -4532 | 1000 E1-BAERE
5 ALY L #8584 12m3/h| m3 0.200] 0500/ 0.800] 0.830] 1.000
4516 |B2-1-5|/RoJEITRA (BEIFER)| 100 | -24 = —2 | -4532 | 1000 R L F IR
5 [AISL 88 $Z2%14m3/h [ m3 0.200) 0.500| 0.800[ 0.710| 1.000
4517 |:82-1-5[RTHITHRA (ZEEZ£E)| 100 ]| -24 -1 -2 -4532 [ 1000 £1v-BHERE
5 ALY L S5 EE#20m3/h| m3 0.200) 0.500| 0.800[ 0.500| 1.000
4519 |382-1-5|RTEITHB (LFEELE)| 100 ]| -24 -1 -2 -4532 [ 1000 £1U-BEERE
5 [AISL EE $Z410m3/h [ m3 0.300] 0.600| 1.500[ 1.000| 1.000
4520 |i52-1-5|RTEITHB (Z@EELE)| 100 ]| -24 -1 -2 -4532 [ 1000 E1y-BEERE
5 ALY L 855 2% 8m3/h| m3 0.300] 0.800| 1.500[ 1.250| 1.000
4526 |:t2-1-5(4)|EXBEHIL- A (W) | 100 25 EEEERIOMERA BHHISERT B
1 |150m*E#H m 0.900
4527 |a2-1-504)|EEEMI-HE (EEEZ8)| 100 2 ERERIERIOMERASHHIERT B
1 [150m%i# m 0.900
4529 |ao-1-54)|EXE I - #E (LAEEET)| 10.0 25
1 150mElt EER 40mLlE| m 0.600
4530 |sa2-1-5(0)| Et B4 -HE (E@ELE)| 100 2
1 150mElt EER 40mLlE| m 0.600
4532 |sa2-1-56)|A09 - MR TEEERRZE| 1.0 13 99 2312 199%0.066=13
3 |#@ 7-4x 90~110m3/h| BERF |  0.150] 13.000] 1.000
4538 |;A2-1-6|YL—E4T5% (UMEEFT)| 100 | -24 -1 -25 [ -2563 [ 1000 SHIEMEEY 78 16t
5 [BWA L EH m3 0.200] 0.600| 0.700] 0.200] 2.000
4539 |:82-1-6|/L—omE#Ts) (L#EEST) | 100 | -24 -1 -25 | -2563 | 1000 R EEY 7 & 16t
5 [AWLS L 85 m3 0.200) 0.800| 0.900[ 0.270| 2.000
4540 |:52-1-6(yL—oB$TEE (L#EEST) [ 100 | -24 -1 -25 | -2563 [ 1000 TS TR 16t B
5 |ABUFL B m3 0.800| 2.500{ 3.300| 0.790| 2.000
4542 (52-1-6|/L—> E4TR (Zi@frga)| 100 | -24 -1 -2 -2563 | 1000 TR TR 16t B
5 [AWLSL EfH m3 0.200) 0.600[ 0.700| 0.200| 2.000
4543 (52-1-6|/L—> EiTR (Ei@EfrgE)| 100 -24 -1 -2 -2563 | 1000 HEBES 7R 16t B
5 [AWS L 8 m3 0.200) 0.800[ 0.900] 0.270] 2.000
4544 (352-1-6|/L—>EiTR (Ei@EfrgE)| 100 | -24 -1 -2 -2563 | 1000 HEBHES 7R 16t B
5  [AWA L MR m3 0.800] 2.500| 3.300] 0.790| 2.000

.18
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No. |TEEH 3] 1" 204 I 3 4 5 6 7 8 9 10 11 12 13 14 15 16 s =
4548 [;52-1-8[;A LA LB ERE -fE | 100 | -24 -26 -25 1000
4 |IUMREET m2 0.290| 1.570] 1.360[ 40.000
4549 [:A2-1-8;AILA LEIRERE-E | 100 | -24 -26 -2 1000
4 |EBEXS m2 0.290] 1.570/ 1.360| 40.000
4553 (#7-10-5|AM A EEFRREEFLE)] 1000 -24 -26 -2 1000 | 2905
5 |[CGAWF L) m2 3.600) 6.400| 17.400[ 13.000] 12.230
4554 [#£7-10-1| W ABREFEEZT 100.0| 4557 | 2899
2 |mwsnm ksssem wmeza| m | 100.000) 11.800
4555 |#7-10-1 [ KEFESLT 1000 4557 | 2885
2 |aussm =R Earza| m | 100.000( 11.800
4556 [#7-10-1| A ARFRFRHLQLUMAEEFI)| 1000 -24 -26 -25 1000
4 GBS LR m2 4.600| 6.300| 17.800[ 54.000
4557 |#7-10-1| A BEFREZREBEEZE)] 1000] -24 -26 -2 1000
4 (GRS L) m2 4.600| 6.300[ 17.800| 54.000
4558 (#7-10-2| M AREFE#T (LMRFET) | 100.0] -24 -26 -25 1000 A KM BRET £
4  |(E2B-BEEER) m2 4300 4.700| 12.900{ 54.000
4559 |#7-102[ A ABEFEMT (LTEELS8) [ 1000] -24 -26 -2 1000 AR BIRET E
4  |(X2B-BEEER) m2 4.300] 4.700{ 12.900| 54.000
4564 | FH3-2|#@mMMT (EBEEXE) 10 | -24 -10 -2 1000 KETHBRELS
4 [#16~25mm t 0.200] 0.900| 0.600| 2.000
4568 || SkA A A (FELER) 1000] 24 2
2 1R 7 0.100] 0410
4569 (-1 SkEEAH (L) 1000] 24 2
2 |umoysmL) DREOwsEY | K 0.180] 0.720
4574 | A2-2(iTHmEmANE(FyELS) [ 100 ] -24 -1 1000
3 m2 0.100] 0.600| 32.000
4576 | A2-3[4THAEER(LUMELEFI)| 100 | -24 -25 1000
3 m3 0.020] 0.100| 12.000
4577 | B2-33THEER(EE/E¥XE8)| 100 -24 -2 1000
3 _ m3 0.020] 0.100| 12.000
4580 | B2-4|.b/KAREEE (LLAEYEEI) | 100 | 528 24 25 KR S IE
3 |150%5mm m 10.700]  0.300| 0.800
4581 | A2-4[1EK#RE%E (LUAREFI) [ 100 | 529 24 25 KR fE A EF
3 |200%5mm m 10.700]  0.300] 0.800
4582 | B2-4|1bKHRERE (LAELBET) [ 10.0 | 3026 24 25 KR fEFAEMIER
3 |CF 300%9mm m 10.700/  0.300] 0.800
4583 | B2-4|EKHRE%E (IL#ELEFT) | 100 | 3027 24 25 WEKRERAEMER
3 |CF 300%7mm m 10.700/  0.300| 0.800
4584 | B2-4|EKIRERE (T @EEEE)| 100 528 24 2 KR fE A EMIER
3 |150%5mm m 10.700/ 0.300] 0.800




#H # — B =

HHEh [I-FNo % #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)

No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =

4585 | A2-4[lLK#REHE (B@1E%X8) [ 100 ]| 529 24 2 KR fE A EF
3 |200%5mm m 10.700]  0.300]  0.800

4586 | A2-4|IEKIRERE (K @{E%8)| 100 | 3026 24 2 WFKIREREHER
3 |CF 300%9mm m 10.700]  0.300] 0.800

4587 | A2-4[1bKiRERE (BE&E{E%EE)| 100 | 3027 24 2 KR fE A IEF
3 |CF 300%7mm m 10.700/  0.300] 0.800

4588 [#203-01|/K$k/ 4/ THUf+ (£18) 1.0 26
1 ¢ 20cmEFHm ~NM7 Rl | BFr | 0.040

4589 [$203-01]/Kk/ A THUAT (@) 10 26
1 |p20cmbl b n47751& | BFT| 0080

4594 | ss19s)| B HATERAT (LLAARDBR ) | 100 | 524 24 25 S>Z S
3 |PA77MbF t=10mm m2 | 11.200] 0.220| 0.760

4595 | sts-10s)| B HhAFER{T (LUAARDBE ) | 100 | 525 24 25 SEH#H
3 |PA77WbFR t=20mm m2 | 11.200] 0.220| 0.760

4596 | sts-10s%)| B HhAFER{T (ILFARDBE ) | 100 | 527 24 25 SEHH
3 |BRHAM t=10mm m2 | 11.200] 0.220] 0.760

4597 |(sts10e%| B M AT (F@IEXE) | 100 | 524 24 2 SELH
3 |PA77)bF t=10mm m2 | 11.200] 0.220] 0.760

4598 | x50 | B A BT (E@EZEE) | 100 [ 525 24 2 SESH
3 |PAI7Wb% 20mm | m2 | 11.200] 0.220) 0.760

4599 | x50 B HhAERfT (B @IEEE) | 100 | 527 24 2 EX 33
3 |@EEH AR t=10mm m2 | 11.200[ 0.220] 0.760

4603 |1203-02[12 & tR[A EIFZE 1.0 | 3343 25
2 |QUsEET) " 1.000]  0.140

4604 |1203-02(12 & k(B EIFZE 10 | 3344 25
2 |QUsEPEET) " 1.000]  0.140

4605 |1203-02[12 & tR[C B IHE 10 | 3345 25
2 |QUsESEET) " 1.000{ 0.140

4606 [$203-02|124#R[D BHRE 10 | 3346 25

_ 2 |GUMEEET) " 1.000] 0.140

4607 |1=03 022 B IR[A BIXiE 1.0 | 3343 2
2 EEEES) 54 1.000{ 0.140

4608 (1203-02|12 % #k[B EIIRE 1.0 | 3344 2
2 |(EEExS) 54 1.000{ 0.140

4609 [203-02|124& #R[C B IXE 10 | 3345 2
2 |(EEEER) 54 1.000{ 0.140

4610 [1203-02[12 & #R[D B ]%RE 10 | 3346 2
2 |(BEBEEXS) {4 1.000]  0.140

4615 [1203-02[;81Luk Me—9[ 1 B]xE| 1.0 | 3348 25
2 | QU#HEEET) 8 1.000| 0.140
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54 [3—FNo = #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [TEEE ] g | B 3 4 5 6 7 8 9 10 11 12 13 14 15 16 it &=
4616 [#203-02[;8 1L Uk -9 I #]ZxE| 1.0 | 3349 25
2 |QU#EPEET) 54 1.000{ 0.140
4617 [$203-02[;B 1LYyt W—-H)[ME]HZE| 1.0 | 3350 25
2 |QU#EPBET) " 1.000]  0.140
4618 [1203-02[;B LY vk eIl 1 BIZE| 1.0 | 3348 2
2 |(EEfExe) " 1.000f 0.140
4619 [1203-02[;81LYuk -9 I &8]ZE| 1.0 | 3349 2
2 |(BBEXS) " 1.000{ 0.140
4620 [1203-02[;81L vk y—y[ME]ZE| 1.0 | 3350 2
2 |(EEEXS) 54 1.000] 0.140
4627 |:&3-15-2[tEE T D5KBT (LmEET) | 100 | 981 3368 25
3 HE5H5£0.5%0.340.1m, B3+ BIHITER m 100.000{ 400.000 2.650
4628 [:&3-15-2[tEE T D5KBT (LsEEHT)| 100 | 981 3368 25
3 |#Esmos«ossoam. hiz+sA | m ] 100.000{ 400.000[ 1.750
4630 [:&3-15-2[tEE+D5KkBT (E@ELE)| 100 | 981 3368 2
3 |rososoim mgrmmgn | m | 100.000{ 400.000f  2.650
4631 [A3-15-2|tEE+ O5KBT (E@EELEE)| 100 | 981 3368 2
3 |ttEstmos«oss0.am. pitaA | m ] 100.000{ 400.000[ 1.750
4633 [$206-01(t£+ 58T (usspT) | 100 | 981 25 008 0% 20018 2641511080
_ 2 |s#e-iEnT hELTBMTE| m2 |200.000) 6.900
4634 |1206-01|ig£+D5ET (L@ r%a)| 100 ] 981 2 B R-008/10X 200-18 3641541856
2 |siE-EYC hELRsiEE| m2 | 200.000)  6.900
4636 (43-48)|HEELD5HT (WHRET)| 100 | 981 3368 25
3 |hEE T IRHIEER m 20.000] 80.000] 0.530
4637 [A3-4@)|Exto5mT (H@EwEze)| 100 ]| 981 3368 2
3 |hEET IR m | 20.000[ 80.000] 0530
4647 |£4-3-1|HEEE M TOUMEEFT)| 100.0] -24 -5 -1 -25 | -4649 | -4650 | —4651 [ 1000
8  |[E3cmld Lk ~6emEK m2 1.600( 5.100] 0.900| 3.000{ 4.600| 0.700| 1.300| 26.000
4648 |1£4-3-1|HE4E vt TOUMBEFT)| 100.0] -24 -5 -1 -25 | -4649 | -4650 | —4651 [ 1000
8 |[E6cmLlE~8cmLl T m2 1700 5.600/ 1.100] 3.400| 5.800/ 0.900| 1.500| 23.000 _
4649 |4-1.2.3[=L20a09)—rriEEEE | 1.0 2387 #H—15 RF)RET
1 B 0.8~1.2m3/h BRI | 1.000
4650 [#£4-3-1|ERIEHEHERRZE 1.0 | 2503 99 %16
2 251105~ 11.0m3/min| H 1.710{ 69.000
4651 (#4-3-1|REXR BB EGLRE 1.0 | 2534 99 HE-16
2 |T4—1tJL 45.0KVA H 1.710{ 31.000
4652 | #4-3-3| RERIEELEE 1.0 | 2530 99 16
2 |T4—1tJL 15.0KVA =] 1.090{ 17.000
4653 | FH4-4|FBFWRA I (LUFEEITI) | 100.0] -24 -5 -25 1000 | 4658 | 4663 BETRIRIEE
6 m?2 0.100] 0.200| 0.200] 0.400] 0.600] 0.600
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No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =
4654 | HA4-4[FEFWRAG T (ZEIEXE) [ 1000] -24 -5 -2 1000 | 4658 | 4663 WBELITREEE
m2 0.100] 0.200] 0.200f 0.400| 0.600] 0.600
4658 | FH4-4|FEFWRFHEIEGLRE 10 99 2391
2 |HE#HA FEFEA25m3 | BR | 4.200( 1.000
4659 |#4-3-2|F L WTHLBELIRE 1.0 | 2392 99
2 |E#HH3Tkw 40940m3 | BERE | 1.000[ 7.100
4660 | #£4-32|BETWTRE 1000] -24 -5 -25 1000 | 4659 | 4664
6 m?2 0.300] 0.400| 0.700] 0.400| 1.700| 1.700
4662 | Ha4-4|FSvHEERE 1.0 14 99 2202 710+ 150=4.7h/B 1+4.7=0.21
3 |3.0~35tE B | 0210 4.200] 1.000
1663 | E44|ovoBhnes 1.0 14 99 2203 710+150=4.7h/B 1+4.7=0.21
4.0~4.5tE8 BifE | 0210 5.500( 1.000
4664 |H4-3-2|FS5vBE R E 1.0 14 99 2205 710+150=4.7h/B 1+4.7=0.21
3 |8tE BRE | 0210 7.400( 1.000
4665 |#4-3-2( Sy BERE 1.0 14 99 2206 710+ 150=4.7h/B 1+4.7=0.21
3 |11tE#E BRE | 0.210] 10.300( 1.000
4671 |#5-5-1|\womsBsEsgEErET) | 1.0 13 99 2456
3 1LIH0.80m3 (FHH0.60m3) HE i H A5 MR (2R BAEME) HEPE E 0580 39000 0790
4672 |#5-5-1|\womoBEEg@EARED) | 1.0 13 99 2456
3 , e I = | 0.900| 61.000| 1.000
4673 | #£5-5-2| wonkvEner@Esre-2eD | 1.0 13 99 2456 A~
3 1LI7%0.80m3 (F1§0.60m3) HE i A AR R (2R M%) IEEFIE E 0580 39000 0790
4674 |#£5-5-2| \worvEmgaeprne-25D | 1.0 13 99 2456 MEAH
3 1LI3%0.80m3 (F-150.60m3) Bt A3 RE (W2 REE) HHEFE E 0900 61 000 1 000
4675 | #5-5-2|swonkyEmgaaens-25D | 1.0 13 99 2456 2L
3 LIF0.80m3 (FH§0.60m3) Pt A A xR (2R EHE) HEFMA E 1 000 68000 1 000
4679 [£5-5-3|EpEm A (LEEFT) | 100 | -1 -25 1000
3 |ERIER m3 0.300{ 2.200| 3.000
4680 |1£5-5-3|&EpEmnEAE (LMEEFT) | 100 | -1 -25 1000
3 |UARSF] ¢ 80mm m3 0.300 1.800| 3.000
4681 |£5-5-3| &R Bt~ (L#EBT) | 100 | -1 -25 1000
3 |ERIER m3 0.300] 5.700|  1.000
4682 | $£5-5-3|BAmEAEH (LMRFET) | 100 | -1 -25 1000
3 |ERIER m3 0.300] 2.700|  3.000
4683 (#£5-5-3|=iAmE AU (WL#BEET) | 100 | -1 -25 1000
3 |ERBIERGSYIIL—)| m3 0.300] 2.300| 3.000
4684 [#£5-5-3|=iAmEAB (L#BEET) | 100 | -1 -25 1000
3 |UIARFI ¢ 80mm m3 0.300] 2.200| 2.000
4685 (#£5-5-3|F=iAmEAB (L#BEET) | 100 | -1 -25 1000
3 |oAEE ¢ 8omm(kSvosL—) | M3 0.300] 2.000| 2.000
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HHEh [I-FNo % #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =
4686 |£5-5-3|HAZES B~ (IL#EET) | 10.0 -1 -25 1000
3 |ERIER m3 0.300] 6.200|  1.000
4687 |2£5-5-3|chgbsEyr Biat < (ILAEEFT) | 10.0 -1 -25 1000
3 |ERIER m3 0.300] 6.200| 1.000
4689 (#£5-5-3|&pmEAgY (EiELE) | 100 -1 -2 1000
3 [EREFER m3 0.300f 2.200] 3.000
4690 (3£5-5-3|&pmEiAgiy (EiELE) | 100 -1 -2 1000
3 |YIARFI ¢ 80mm m3 0.300] 1.800| 3.000
4691 [#£5-5-3|HpsEy B~ (EiFEFES) | 100 -1 -2 1000
3 |ERIER m3 0.300| 5.700[ 1.000
4692 |#£5-5-3|mAmnEABY (EiEMEEE) | 100 -1 -2 1000
3 |ERIER m3 0.300{ 2.700| 3.000
4693 |1£5-5-3|mAmEAEY (EiEMEEE) | 100 -1 -2 1000
3 |EREERGSyIIL—)| m3 0.300] 2.300| 3.000
4694 |£5-5-3|mAmEAE Y (EiEMEELE) | 100 -1 -2 1000
3 |YIARF| ¢ 80mm m3 0.300] 2.200| 2.000
4695 |£5-5-3|miAmEABY (EiEMEEE) | 100 -1 -2 1000
3 |rARE ¢ 8omm(kSvosL—) | M3 0.300] 2.000| 2.000
4696 |£5-5-3|mA%Eyr B~ (TiEAEZS) | 10.0 -1 -2 1000
3 |EREER m3 0.300] 6.200| 1.000
4697 |#£5-5-3|chibsEar B~ (LiEFES) | 100 -1 -2 1000
3 [EREFER m3 0.300f 6.200] 1.000
4704 | E5-7(/\v IRV BEGERE 1.0 13 99 2149 PR S A 2l
3 1L17%0.80m3 (F1]0.60m3) L —>2.9t H7 A3 FRI(BE 1 RE ) H%Fﬂﬁ 01 60 1 5000 1 000
4705 | #5-7|sEasasrRE (LHREET) | 1.0 24 25 4704 B D A=
3 1L13%0.80m3 (FAE0.60m3) L —>r2.9t t 0.150 1.180 1.590
4706 | FH5-7|smmpaE (TEEZR) | 10 24 2 4704 B A R EE
3 1L1350.80m3 (F#50.60m3) ZL—>2.9t t 0.150 1.180 1.590
4707 | &E5-17|/\wH R BE R E 1.0 13 99 2415 RS A=
3 1LIF%0.45m3 (F380.35m3) FL—22.9t 4 A TR (W1 REERE) H%Fﬂﬁ 01 60 8600 1 000
4710 | H5-7|sRRPAEIT R BLMEET) | 1.0 24 25 2563
3 |sorL—s—vmEmmsTmes |t 0.200] 1.600| 0.060
4711 | H5-7|sRpERR BT [ 1.0 25 2563
2 STFL—UoL—UHERESIRIS | M3 0.150 0.020
4712 | H5-7|sEsesaRE (WM | 1.0 25 4011 BED A ER
2 1LIF§0.45m3 (F1§0.35m3) FIHE 0% HEH R AU 1 RALE(E) m3 01 00 0300
4713 | H5-7|sspsEassE (LMK | 1.0 25 4013 BED A ER
2 1LIF50.80m3 (F150.60m3) EIKE 0% HEH R AU 1 RAAE(E) m3 01 00 0200
4714 | 35-73)3)| T2/ SRALERS (LA | 1.0 25 THRAVEAL BligEtE
1 m2 0.020
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S8 [3—F No = ER Lﬁﬁ“ligﬁlﬁ%vﬁ 'FEQ(;%EF %ﬁ%x %rﬁal liﬁﬁlﬁ%vsl rJéﬁ-e“)
No. [TEEZR & % B 2 12 13 14 15 16 i =
4716 | FH5-7|MmpETREEEAZE) | 10 24 2 2563
SOFL— oL — E RS TR 16tS t 0.200 1.600 0.060
477 | H5-7|snpsERgsEEngs)| 10 2 2563
STFL—UHL—UHERESIRIE | M3 0.150 0.020
4718 | H5-T[mupars (TErEzs)| 10 2 4011 HEH A AR =R
2 1L1#50.45m3 (F350.35m3) Ei% 0% | m3 0.100 0.300
4719 | H5-7|smapaaes (Sarza)| 10 2 4013
2 1L1#50.80m3 (F£350.60m3) % 0% | m3 0.100 0.200
4720 |#£5-73)3)| ¥ =8 R AaL RS (EEEZS)| 1.0 2 TXRNRURARL BIEEE
1 _ m?2 0.020
7723 |B5-92|@mar-T NIl — mEiEE| 1.0 T 99 | 2411 EZEERTIS
3 1.0t 9.2kw =] 1.000( 6.000[ 1.550
4724 |#5-9-2|mer-TnsL— E -wEE| 10 -6 -25 1000
3 |1.0tF 9.2kw £ | 20.000[ 20.000/ 8.000
4735 | #5-150)|=EmEET dgm (e | 1.0 | 3110 25 4011 | 3108 hERIREE
S P —— 4 1.000{ 0.210] 0.110| 2.200
4736 |5-15(3) _iﬁwmmmxmw\m'sm 10 | 3111 25 4011 | 3108 hERIRIEE
LS R ———— 1.000) 0.310f 0.160] 2.700
4737 |#£5-15(3) _EEIEI(&EW}(UJMFJ rvm 10 | 3112 25 4011 | 3108 FEEARERERE
4 | 54 1,000 0400/ 0.220] 3.200
1739 [T o anmET @ mBrD] 10 | 3110 |25 | 4013 | 3108 EEFERI Y e
S e I 1.000f 0.210] 0.060| 2.200
4740 |#5-153) _iml&ﬂ&mxmwmn 10 | 3111 25 4013 | 3108 hEERRIRRE
4 Lsomsrmompusmsssmssssenns | 4K 1,000 0.310] 0.090] 2.700
4741 [#5-153) :;ﬁ%zq&mxmnwmn 1.0 3112 25 4013 3108 hERREREE
S P I - 1.000{ 0.400] 0.120] 3.200
4743 [#5-150)|—smmET e s 1.0 | 3113 25 4011 | 3108
4 |, ® 1.000{ 0.240[ 0.130] 2.200
4744 | #£5-1503)|—HEAET e (uHpsT)| 1.0 | 3114 25 4011 | 3108
4 | . m " 1000 0.350] 0.190] 2.700
4745 | #£5-153)| —HEET e (ussps )| 1.0 | 3115 25 4011 | 3108
4 | : caum | B 1.000{ 0.450] 0.260| 3.200
4747 [ #£5-153) _i#ﬁlﬂl(#ﬁm)(mﬁﬁl‘ﬂﬁl) 10 | 3113 25 4013 | 3108
LS R —— 1.000{ 0.240] 0.070| 2.200
4748 | £5-153) _imlxnmmxmmumm 10 | 3114 25 4013 | 3108
4 | ———— 1,000 0.350] 0.110] 2.700
4749 [#£5-153) _imlﬂ(&mxmwmm 10 | 3115 25 4013 | 3108
LS e I 1.000f 0.450] 0.140| 3.200
4751 %5—15(3)‘E?ﬁlgl(#&m)@l:ﬁ?ﬁ%ﬁ) 1.0 | 3110 2 4011 | 3108
4 .. 54 1,000 0.210] 0.110] 2.200
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B [3-F No = ER Lﬁﬁ“ligﬁlﬁ%vﬁ 'FEQ(;%EF %ﬁ%x %rﬁal liﬁﬁlﬁ%vsl rJéﬁ-e“)

No. [TEEZR & % B 2 12 13 14 15 16 i =

4752 | #£5-153)| —EHEET Gea) (ZEkEze)| 1.0 | 3111 2 4011 3108
S P —— 4 1.000{ 0.310] 0.160| 2.700

4753 [ #£5-153) _EEIEI(#&W)G‘JE{’E%E) 10 | 3112 2 4011 | 3108
4 . | & 1.000{ 0.400] 0.220] 3.200

4755 |#£5-15(3) :E?ﬁgl(#&mﬁ)(mﬁﬁ%% 1.0 | 3110 2 4013 | 3108
4 |somsrmospismsssmsssenns | 4K 1,000 0.210] 0.060] 2.200

4756 |#5-153) _E?ﬁlgl(#&m)@ﬁfﬁiﬁ) 1.0 | 3111 2 4013 | 3108
S PR I - 4 1,000 0.310] 0.090] 2.700

4757 |#£5-153) :E?ﬁlgl(#&m)@tiﬁﬁ%é) 10 | 3112 2 4013 | 3108
4 Noeomsimossmemmssmmssnsrenn | A% 1,000 0400 0.120] 3.200

4759 #5—15(3)_Eﬁfﬁlxl(&!&m)@tﬁﬁ%ﬁ) 10 | 3113 2 4011 | 3108
4 |, ® 1.000{ 0.240[ 0.130] 2.200

4760 |#5-15(3)| = EmMET ) (B@Ega)| 1.0 | 3114 2 4011 | 3108
4 | — ® 1,000 0.350] 0.190| 2.700

4761 |#5-150)|—=mmET Gem) zEeze)| 1.0 | 3115 2 4011 | 3108
4 | caum | B 1.000{ 0.450] 0.260| 3.200

4763 |#5-153)|—EmmET e zEeza)| 1.0 | 3113 2 4013 | 3108
4 |, e I ¢ 1.000{ 0.240] 0.070| 2.200

4764 |£5-153) _EEIEI(#&W)G‘JE{’E%E) 10 | 3114 2 4013 | 3108
S PO I - 1,000 0.350] 0.110] 2.700

4765 |££5-15(3) :E?ﬁgl(#&mﬁ)(mﬁﬁ%% 1.0 | 3115 2 4013 | 3108
LS e I 1.000f 0.450] 0.140| 3.200

4767 |#5-153) _iml&ﬂmxmwmn 10 | 3110 25 3108 hEERRIRRE
3 |8# 13cm 50%200cm " 1.000] 0.420[ 2200

4768 |#5-1503)|—EwEET (A wHsED)| 1.0 | 3111 25 3108 hERIRERE
3 |8# 13cm 50%300cm " 1,000/ 0.610/ 2700

4769 [#5-150)|—smmEr JomwmspD| 1.0 | 3112 25 3108 hERIEREE
3 |8# 13cm 50%400cm " 1.000{ 0.800| 3.200

4771 [ #5150 —smmEr oomwmsrD| 1.0 | 3113 25 3108 hERIREE
3 |8# 13cm 60%200cm 4 1.000] 0.480[ 2200

4772 |#5-1503)|—EREEL A LHBHD| 1.0 | 3114 | 25 | 3108 Y 3
3 |8# 13cm 60%300cm " 1.000{ 0.710] 2.700

4773 | #5-150)|—gmEET (AmassrD| 1.0 | 3115 25 3108 hERIRIEE
3 |8# 13cm 60%400cm " 1.000{ 0.940| 3.200

4775 |#5-150) | —EHmmET (A EEEza)| 10 | 3110 2 3108 FETRREE
3 |8# 13cm 50%200cm ® 1.000{ 0.420[ 2.200

4776 |#t5-150)|—EmEET (A EErze)| 10 | 3111 2 3108 hERBIRIEE
3 |8# 13cm 50%300cm 4 1.000] 0.610/ 2700

4777 |#5-150)|—EwEET (A @EELe)| 1.0 | 3112 2 3108 hEERRIRRE
3 |8# 13cm 50%400cm 5 1,000 0.800[ 3.200
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No. [IEEZK fE] % B 2 12 13 14 15 16 i %

4779 |#£5-150)|—smEET (A @&EEze)| 1.0 | 3113 2 3108 hERIRIEE
3 |8# 13cm 60%200cm " 1.000{ 0.480| 2.200

4780 |#5-150)|—EmmET (A (EErze)| 10 | 3114 2 3108 FETRREE
3 [8# 13cm 60%300cm " 1.000) 0.710| 2.700

4781 |#t5-150) | —EmmET (A (EEEza)| 10 | 3115 2 3108 FERRZRERE
3 [8# 13cm 60%400cm " 1.000) 0.940| 3.200

4784 | #E5-16[ACHI (351) LRI | 100 | -24 -1 -25 1000 | 4011 | 3144 T —RR&E
6 |H=500 L=2,000 D=800 m 0.110] 0.120] 0.470] 13.000[ 1.280] 10.000

4785 | #£5-16[AC#I (351) IL#RET | 100 | -24 -1 -25 1000 | 4011 | 3145
6__[H=500 L=2,000 D=1,200 | m 0.150| 0.160] 0.600| 14.000] 1.670| 10.000

4786 | FE5-16|MACHI (GEL)LTRAEEXE| 100 ]| -24 -1 -2 1000 | 4011 | 3144 —AlE
6 |H=500 L=2,000 D=800 m 0.110[ 0.120] 0.470] 13.000[ 1.280 10.000

4787 | #£5-16[ACHRI(GEL)EEEZE] 100 | 24 -1 -2 1000 | 4011 | 3145 L —RR&
6 |H=500 L=2,000 D=1,200 m 0.150[ 0.160] 0.600| 14.000[ 1.670[ 10.000

4790 [ss-rem|xmscancT BB 1.0 24 25 4707 WBARRILRUPE
3 |8 13mm~16mm x 2868 M3 0.040| 0.310] 0.480

4791 [sseem |[xBscancT (A @EEEED)] 1.0 24 2 4707 BIRRILRUPE
3 |8 13mm~16mm x 2868 M3 0.040| 0.310] 0.480

4792 | s | KRB SEANST B WLHEBHT)| 1.0 24 25 4707 WAL RUFEE
3 |80 13mm~16mm) x 218(08)| mM3 0.070| 0.470| 0.760 _

4793 | s | X B S LA T B EEEES)| 1.0 24 2 4707 ARV RO
3 |#Em o 13mm~16mm x 2868 M3 0.070| 0.470] 0.760

4796 | A3-2|HmEIZEIA)(LLEEEI)| 100 887 24 1 25 4014 hERURRE L=30mET
5 10# 130m 50%1200m. BH=1110.5m3(F0.4m3) m 10.000 0.700 0.800 2.100 2.900

4797 | AS-2|HEEIT(A)(LMIEFI)| 100 ] 889 24 1 25 4014 HEABHYE L=30mET
5 8# 13cm 50%120cm., BH=1L10.5m3(FF0.4m3) m 10.000 0.700 0.800 2.100 2.900

4799 | AS-2(wmAZEIA (WLMEEET)| 100 | 3107 24 1 25 4014 hERBIREE L
5 10# 130m 60%1200m, BH=LLI0.5m3(FE0.4m3) m 10.000 0.800 0.900 2.500 3.400

4800 | A3-2|HmEIZEIT(A)(L#MEEI)| 100 | 891 24 1 25 4014 hERBIREE L
5 8# 13cm 60%120cm. BH=1L10.5m3(F0.4m3) m 10.000 0.800 0.900 2.500 3.400

4802 | B3 2| EL(A) (B @IFES)| 100 | 887 24 1 2 2014 T AA e E L
5 10# 13cm 50%120cm. BH=1LI0.5m3(FF0.4m3) m 10.000 0.700 0.800 2.100 2.900

4803 | A3-2|HEIBEI(A)(E@E/E£E)| 100 889 24 1 2 4014 hERBIRIEE L
5 8# 13cm 50%120cm, BH=1L10.5m3(<E0.4m3) m 10.000 0.700 0.800 2.100 2.900

4804 | B3-2[HmEEIWA (EEEEE)| 100 | 3107 24 1 2 4014 PERAREE L
5 10# 13cm 60%120cm. BH=1LI0.5m3(F0.4m3) m 10.000 0.800 0.900 2.500 3.400

4805 | A3-2|HHEI(A)(E&EEXA)| 100 ] 891 24 1 2 4014 hELAREE L
5 8# 13cm 60%120cm. BH=1LI0.5m3(E0.4m3) m 10.000 0.800 0.900 2.500 3.400

4807 | As-2|HEEI(A(L#HEEEI)| 100 | 3132 24 1 25 4014 hEERRIRIEE L
5 54 130m 100%200cm. BH=LL0.5m3(F0.4m3) m 5.000 2.300 2.600 7.000 9.600
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HHEh [I-FNo % #h R TR EMES TR H (RRENREECFEMESI 121 T)
No. [IEEZK fE] % B 3 4 5 6 7 8 9 10 11 12 13 14 15 16 &
4808 | JA3-2(fHEAIEI(A)(E&EIFEE)| 100 ] 3132 24 1 2 4014 hERBIRIEE L
5 54 130m 100%200cm, BH=LLI0.5m3(FF0.4m3) m 5.000 2.300 2.600 7.000 9.600
4813 [ se-17em| AT T@Smu T IL—nEm | 100.0] 24 -2 | -4814 | 1000
4 Br600~ 800ke,Bm0.45m3 Akiilz | A 1.720 3.450 1.720 2.000
4814 |sorrem| KB T L —hEERE 1.0 13 99 2141 | 2284
4 |600~800kg, A#iT T B 1.000] 62.000f 1.400| 1.400
4816 [z3-269)(1 1 (LU#EBEI) 10.0 25 2910 | 2916 | 2918
4 |KAFEIOmm £&1.5m X 0.600] 0.120] 15.000| 15.000
4817 [ss-209)(1E 1 (ERBEXR) 10.0 2 2910 | 2916 | 2918
4  |E&RORIOmm £&1.5m & 0.600| 0.120| 15.000| 15.000
7820 | 7-3-9| AL QLGSR L) 100 | 2885 | 2910 | 2918 | 2916 220 25 1.5m X 13+3.6m X
6 |H=0.45m E#RI& m 0.160| 0.330| 128.000{ 20.000| 3.000| 1.180
4821 (#£7-3-9| AT (BEEXE) 100 | 2885 | 2910 | 2918 | 2916 220 2 1.5m X 13+3.6m X
6 |H=0.45m E#RI& m 0.160| 0.330| 128.000{ 20.000| 3.000| 1.180
4823 | #£7-3-5| KM I(E) 100 | 2910 | 2885 | 2918 220 345 25 R #IANI=1.80x%
[ T — 0.360] 0.500| 86.000[ 1.510| 1.900| 4.450
4824 | #£7-3-5| KM I(E) 100 | 2910 | 2885 | 2918 220 345 2 RFANTI=1.80x
6 |moson mmosim surzn pmman smmzay [ m 0.360] 0.500| 86.000[ 1.510| 1.900| 4.450
4825 | #£7-3-5| KM I(E) 100 | 2910 | 2885 220 345 25 M- ERIZIRE06-
I e ea—— 0.360] 0500| 1.510] 1.900| 4.450 _ _
4826 | 2£7-3-5| AL (E) 100 | 2910 | 2885 220 345 2 M- EARIEIRE06-
5 |maoson smosom satran pruam sumem | m 0.360) 0.500| 1510 1.900] 4.450
4829 |#£7-4-1|A KT 100 | 2885 | 2910 | 2918 | -24 -2 1000
6 |oam mmosom mmpxa mamray[ m 0.300] 0.120] 42.000f 0.110/ 0.900| 1.000
4830 [#7-4-1[AKFFT 100 | 2885 | 2910 | -24 -2 1000
5 3Af ME0SOm BBMELE KIMIHL m 0.300 0.120 0.110 0.900 1.000
4841 [:B3-8(1)|m~mmE trsrre A (mpsT) [ 10.0 25
1 T ERI3S R RS ERIE=0.3m| m 0.080
4842 (:53-8(1)|m~mem rsrre A (i) [ 10.0 25
1 B R 35K i EXiE=0.5m | m 0.230
4843 [:53-8(1)|m~mem trerrenw (i) [ 10.0 25
1 |FH9MESI35K BREERIE=08m| m 0.580
4845 [;83-8(1)|ms~mz Darsyr@wssrsn [ 10.0 25
1 EHERISS R FEREEXIE=0.3m| m 0.130
4846 (383-8(1)|mm~ma Darswmwasmrso [ 10.0 25
1 FEIERISERFEEERIE=05m| m 0.350
4847 |:83-8(1) | ~w DamswdwousmpD | 10.0 25
1 EIERIS RS ERIE=08m| m 0.910
4849 (;A3-8(1)|m~wm tpsrrelA (smpT) [ 10.0 25
1 |FEHiESI35LL EREELIE=03m]| m 0.130
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% [1=FNo = Fh 1ERK TERIFEMEBES - TERIEISE EREMFEHICEFEMBSIC-1ZHT)
No. |TEEH 5] % B 3 4 5 6 7 8 9 10 11 12 13 14 15 16 s
4850 |:A3-8(1)|m~rem LR wIFA (LsmT) [ 10.0 25

1 SEERISSLLEREERIE=0.5m| m 0.360
4851 [;A3-8(1)|m~pem BB uIMHA (LR T) [ 10.0 25

1 EIERIBS L EFEERIE=08m| m 0.920
4853 [;83-8(1)|ms~mz Darsvr@wsprn [ 10.0 25

1 EHERI5LL EBEERIE=0.3m| m 0.200
4854 [;83-8(1)|mm~mz Darsvr@awsprn [ 10.0 25

1 SEHESI35 L L BEERIE=0.5m| m 0.560
4855 [;A3-8(1)|ms~ma Darsu@amwspn) [ 10.0 25

1 FIIERIBS LU L FEERIE=08m]| m 1.420
4858 |:B3-8(2)|m~nem Ry (WmBT) [ 10.0 25

1 R ES1.0m BEERIE=0.3m| m 0.390
4859 |i&3-8(2)|m~mem tREEYIHE) (WBKT) [ 10.0 25

1 BEERES1.0m BEERIE=05m| m 0.650
4860 |;&3-8(2)|m~nemE LReEYIFE) (tmKT) [ 10.0 25

1 |BSERES1.0m BEEIE=08m| m 1.040
4862 [;83-8(2)|ms~mz Darsys@ wxsrpn [ 10.0 25

1 |BSERES1.0m BEERIE=03m| m 0.600
4863 |;83-8(2)|mt~mu Darswi@ws#mrD [ 10.0 25

1 |BSERES1.0m BEEEIE=05m| m 1.000
4864 [;83-8(2)|mm~mz Darsvs@ wixpro | 10.0 25

1 [BEEREE1.0m BEERIE=08m| m 1.600
4867 |iB3-8(2)|m~mem R oI (LHmKBT) [ 10.0 25

1 |BSERES1.5m BEERIE=03m| m 0.590
4868 |i&3-8(2)|m~mem Ry (LHmKBT) [ 10.0 25

1 |BEERES1.5m BEERIE=05m| m 0.980
4869 |i&3-8(2)|m~mm Ry (LHBET) [ 10.0 25

1 BEERES1.5m BEERIE=0.8m| m 1.560
4871 [;83-8(2)|ms~ma Darsvs@ wisrsn [ 10.0 25

1 PSR E = 1.5m PEEXIE=0.3m| m 0.900
4872 [:53-8(2)|ms~mu Darsas@ wHwppsn [ 10.0 25

1 |BSERES1.5m BEERIE=05m| m 1.500
4873 [;83-8(2)|ms~ma Darsys@ wHsspn [ 10.0 25

1 |BSERES1.5m BEERIE=08m| m 2.400
4875 [;A3-8(2)|m~mem BByt @ (utmisT) [ 10.0 25

1 P ERE =2.0m BEERIE=0.3m| m 0.780
4876 |iB3-8(2)|m~rem tResEvIa@ (LimpT) [ 10.0 25

1 [BEEREZ2.0m BEERIE=05m| m 1.300
4877 |:83-8(2)|m~mem R vt (uampT) | 10.0 25

1 B EY 1 E = 2.0m BEERME=0.8m| m 2.080
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HHEh [I-FNo % i 1ERK THREIEMES F RIS H (BRENREHICTEMESI<—1&d3)
No. [IBE® 3] % o8 3 4 5 6 7 8 9 10 [ 11 12 13 14 | 15 16 %
4879 |:B3-8(2)|zs~maDarsws@wsmrn) [ 10.0 25
1 |BEES20m BEEIE=03m| m 1.200
4880 [;43-8(2)|zm~me Dassyr@wHsprD | 10.0 25
1 PEEY E =2.0m FEE¥IE=0.5m| m 2.000
4881 |;B3-8(2)|zs~maDarsys@wssro [ 10.0 25
1 |BEREZ20m BEERIE=08m| m 3.200
4883 | A3-9|m~mmtmmmsms raumppn | 10.0 25
1 m2 0.140
4884 | B3-9|mEtmmmzEt ousmiET) | 10.0 25
1 m2 0.190
4885 | A3-9|ss ) Ammamit taussms T | 10.0 25
1 m2 0.360
4887 | ;A3-10|ma+. witmmmmsprD | 100 | 25
1 m2 0.230
4888 | ;A3-10[mee +stmEE (LL#AREFT) | 10.0 25
1 m2 0.360
4889 | B3-10[&ma( HastEm=m (uawBT) | 10.0 25
1 m2 0.440
4891 | B3-10[mmt. wtstomem wanzs) | 10.0 2
1 m2 0.230
4892 | ;A3-10|ME talmEH (ZEF£8) | 100 2
1 m2 0.360
4893 | 7B3-10(#a( HapEEw (ZEfza) | 10.0 2
1 m2 0.440
4898 | #1-3-32)|w-mut. wte+ wux mommussyo | 10.0 25 4910
2 [Brewossmaoasmal A sEsy | M3 0.170( 0.090
4899 |#1-3-32)|sm x5, wa(HA rommwssrn [ 10.0 25 4910
2 BH=ILI0 45m3(0.35mAL A AR E) IRsY | N3 0.250 0.110
4900 | #1-3-32)|m-mu+. weet mutr rommwssso | 10.0 25 4911
2 BH=1L10.80m3(0.60m3) A i #maL | M3 0.110] 0.040
4901 | #1-3-3@)|am-25. 2 (Oa gomswsspD | 10.0 25 4911
2 BH=1110.80m3(0.60m3)LA 11 5t F##] HIBRAIL m3 0.160 0.060
4904 | #£1-3-32)|m-mu+ it wat somsearzs | 10.0 2 4910
2 BH-1LI0 45m3(0.35mALA A Al E) MmsY | N3 0.170] 0.090
4905 |31-3-302)|sm 5. ®a (DA womsaarxs) | 10.0 2 4910
2 BH=LLI045m30.35mI)A A BN #IBsY | M3 0.250] 0.110
4906 | #1-3-32)|w-mut. wter wat sommasezn | 10.0 2 4911
2 [Br-wwosom3osoma AN sEsL | M3 0.110{ 0.040
4907 |31-3-302)|zm-5. ®a (DA soms sz | 100 2 4911
2 BH-1LI0 80m3(0.60mA)LA 1 ¢ Al E) MmsL | M3 0.160] 0.060
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HHEh [I-FNo % #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =
4910 |st1-3-3@)|/\wokBiziz s (BgiEEn| 1.0 13 99 2428
3 |ucssmorrossms samunpusmsmnaosee | H 1.000{ 58.000[ 1.450
4911 [st1-s-s)|\wokBizie s (SyEEn| 1.0 13 99 2430
3 |uosmorvosoms semun pusmsmnamses | H 1.000{ 94.000[ 1.540
4925 sokk {RER T sk
4926 | #8-2|+D5#HENT (LLFFLEET) | 10.0 25 978
2 |62%48cm®@ /N AR m2 6.000] 170.000
4927 | #H8-2|x5#YIT (E@EZE)| 100 2 978
2 |62%48cmD/NE M A m?2 6.000| 170.000
4928 | #8-2|x D >#ENT (LL#FEET) | 10.0 25 978
2 |62%48cmD _E M~ m2 | 12.000| 340.000
4929 | #8-2|XDS#HYIT (EBMHEZE)| 100 2 978
2 |62%48cmD_F M~ m2 | 12.000/ 340.000
4930 | #8-9[xm+osmr-mErmizttiz | 100 | —24 -1 -2 1000 985 | 4938 BH: tBIEER S & - HE
6 |2 i errmouT osnoms | B 0.280] 0.280] 0.280[ 4.000| 10.000| 0.280
4931 | #H8-9|xmtosme-mErMRM1£) | 100 | —24 -1 -2 1000 985 | 4939 | 2565 BH: BIEEEZ -
S Imd L Eo~20mBT L | B 0.190] 0.190] 0.190[ 6.000] 10.000] 0.190| 0.190
4932 | #8-9|KE X DSEE-FHE 100] -24 -1 -2 1000 983 | 4938 BH: iBIEER S & - HE
BE ms EREBOUT roviomy | B 0.280] 0.280| 0.280| 4.000| 10.000| 0.280
4933 | H8-9[ AT DS>HE-J/E 100 | -24 -1 -2 1000 983 | 4939 | 2565 BH: HBIEERE 5 - 5
S Imd L Bo~20mUT SL—siEt | B 0.190| 0.190] 0.190] 6.000] 10.000] 0.190| 0.190
4934 | #8-9|KE X MS5#EE 10.0 24 1 4940 BH: BIEEREE - 5
3 |BE Im3EZEEemUT Sypky| B 0.070] 0.070] 0.070
4935 | #H8-9[XKE T DS5#E 10.0 24 1 2565
3  |z2imiszrme~oomprFoL— | B 0.070[ 0.070| 0.070
4936 | #H8-9|KE L DS#E (8% 10.0 24 1 2 4941 BH: BIEERS T - HF
4 |BE 1m3EZEEeMUT Sypky| B 0.120/ 0.120/ 0.120{ 0.120
4937 | H8-9| KRE+ D5 (8% 10.0 24 1 2 2565 I77L-vHb—- BER
4 |msim rreme~oomuT oL— | B 0.130] 0.130] 0.130] 0.130
4938 | #8-9| xwutyEmeE( oM | 1.0 13 99 2459 R+ )5 B0/E - o
LI P — I = | 1.000{ 104.000  1.390
4939 | #8-9|/xwokwEEmeE (sL—zE) | 1.0 13 99 2459 KE+ DSEE
e —— I | 1.000{ 119.000]  1.440
4940 | F#H8-9[/\w TR BE IR E 1.0 13 99 2459 KT DS5EE
=] 1.000{ 78.000/ 1.260
4941 | #8-9[/\wHRDBERE 10 13 99 2459 RKETD55%
=] 1.000{ 94.000[ 1.360
4942 | #8-9[kmt>Ssute-mEMMHEME | 100 | —24 -1 -2 1000 | 3197 | 4938 BH: dBIEERE & -
BE (md EREBmUT SooniEn | B 0.280] 0.280| 0.280| 4.000| 10.000| 0.280
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#H # — B =

54 [3—FNo = #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)

No. |[TEEZ ] 3 B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 it =

4943 | H8-9|xBtm>mie-RBMEMsE) | 100 | -24 -1 -2 1000 | 3197 | 4939 | 2565 BH: tBIEER S & - HE

S Imd L Eo~20mBT L | B 0.190] 0.190] 0.190[ 6.000] 10.000] 0.190| 0.190

4947 [ig15-02200| FHIEILE——)LEXRE| 100 -2 1000
2 0.03m $0.30%E 3, BA%kiE| m 1.500{ 30.000

4948 |z15-02-200| L AEILE=— )L EHRE | 100 -2 1000
2 0.03m ¢0.304E 64 A%k m 1.500| 40.000

4949 |z15-02-200| EAEILE =— )L EERFH| 10.0 2
1 ]0.03m ¢0.303Z| m 1.500

4950 [#207-02[E T (LLAKEPFET) 100] -26 -25 1000 15-02-100

_ 3 |3y Ak 024m3(H06 X F04m) | m 1.300| 1.800[ 29.000

4951 |1=07-02[B 0 (Z B IEER) 100 | -26 -2 1000 15-02-100
3 34 A K 0.24m3(150.6 X F®04m) |  m 1.300 1.800] 29.000

4953 [#8-4-1[FUIHEKAR T EEEE | 10 -1 -2514 | -4958 | 1000
4 o~ 40m3/hki fEEEEK| H 0.140| 1.200] 1.000{ 3.000

4954 [#e-4-1[FFUIHEKAR T EEEE | 10 -1 -2515 | -4959 | 1000
4 |40~120m3/nkii vEEsEk | B 0.140| 1.200] 1.000[ 3.000

4955 |#8-4-1[FFUIHEKAR T EEZE | 1.0 -1 -2514 | -4962 | 1000
4 [0~ 40m3/hkiE EHEEK| H 0.170] 1.100] 1.000[ 1.000

4956 |t8—4-1|FEUIHEIKAR T BERE| 1.0 -1 -2515 | -4963 | 1000
4 | 40~120m3/hkis EEEEK| B 0.170] 1.100] 1.000| 1.000 _

4957 | KO- 18| R R BB inR 10 | 2534 | 99 SXIEm
2 |54t wIvyUERE) 45KVA | H 1.710] 31.000

4958 (#8-4-1|REIFREMRELRE 1.0 | 2532 99 EE=1a
2 25KVA {EZEREHEK =] 1.200{ 22.000

4959 |#8-4-1|REIRKEREGLRE 1.0 | 2533 99 BEEEE
2 35KVA 1EZEREHEK =] 1.200| 38.000

4960 (8-4-1|REIREREGLRE 1.0 | 2535 99 BEEE
2 60KVA {EZERFHEK =] 1.200| 56.000

4961 |#8-4-1| R R EHEGLRE 10 | 2537 99 BEEIE
2 |100KVA fEZREHEK H 1.200| 88.000

4962 |8 41| RENF B e in B 1.0 | 2532 99 ]
2 |25KVA FEFHEK =] 1.100| 67.000

4963 (#8-4-1|REIREHEGLRE 10 | 2533 99 BEESIE
2 |35KVA EEHEK H 1.100| 98.000

4965 | sts-2-15)|R FiRft- =B (LHBHET) | 1.0 24 1 25 4967
4 |, [ #rr| 05000 0.100] 2.000] 0.500

4966 |sts-4-15)| K TR - AR (HEAEZE) | 1.0 24 1 2 4967
4 |, R #rr| 05000 0.100] 2.000] 0.500

4967 (ss-4-100|/ \workyBinRE JexEHE) | 1.0 13 99 2459 KBI R TR
3 BHILO.8m3gh HHA AR RE (B2REHEM) JL—UBEME20R E 1000 65000 11 60
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#H # — B =
HHEh [I-FNo % #h 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 & =
4971 |28-4-2| Ol KR J @R & | 1.0 -1 -4975 | 1000 INOZEEZERHEK)
3 |o~6m3/hkil YFmEHik| H 0.140]  1.000| 10.000
4972 |#e-4-2|FEIHEIKAR T BERE | 1.0 -1 -4977 | 1000 INOBRUEERFHEK)
3 |eslb~som3/hkiE fegesgok| H 0.140] 1.000| 10.000
4973 | s8-4-2|#ENHEK AL T EERE| 1.0 -1 -4976 | 1000 NOZECERHEK)
3 |o~6m3/hEkiE EEHIK| H 0.170f 1.000] 8.000
4974 | #e-4-2|fEIHEIK AR T BEFZEE]| 10 -1 -4978 | 1000 INOBRCERFEEK)
3 |eulb~30m3/nki mEHok| H 0.170] 1.000| 8.000
4975 |H8-42 | RE) KB EGRE 1.0 | 2525 100 BEEE
2 |2KVA {EZERHEK =] 1.100| 8.900
4976 |E8 42| RD R BB B 10 | 2525 100 T =1
2 |2KVA EEEK =] 1.100 28.000
4977 (H8-42|REIREHEGLRE 10 | 2527 99 BEEE
2 |5KVA {EZEmRHEK B 1.100[  6.700
4978 |H8-4-2| R KR EHEFGTRE 10 | 2527 99 BESE
2 |5KVA EEEK =] 1.100| 20.000
4980 | #t8-4-205)| Ko THRt - WEE (LMHBKET) | 1.0 24 25 4982 AEBI(MOR)
3 |asmuommmin—samion xoseen | AT ] 0.500]  1.000] 0500
4981 |#e-4-205)| R TRt BEE (EEFELE) | 1.0 24 2 4982 KEZIL(NORE)
3 7E\*$§<w0Bﬂm'm)(’ﬂz:”l%ﬂu%] R 7 OE100mm %Fﬁ 0500 1000 0500
4982 |#8-426)|/ \U IR BRI B 1.0 13 99 2459 EE=R
3 7 0—SE(1L0.80m #R(IL—2.9tH)[0%] KT O100mm E 0680 40000 1000
4983 | sts-4-26) Ko TR = E (WHBHHFT) | 1.0 24 25 KB OMOR)
2 |RoFO#&50mm AT | 0.300] 0.500
4984 | sts-4-206)| Ko TRt - =B (@mEEE) | 1.0 24 2 AKEBEIOMAORE)
2 |R>FO%&50mm #er ] 0.300/ 0500
4988 | #H8-5|BHERIGT 1000] -24 -6 -25 | -2565 [ 1000
5 |u#EBET #tm2| 1.900[ 6.900| 1.800| 0.800] 29.000
4989 | Hg-5(HERIFTI[RLF VL [1000] -24 -6 -25 [ -2565 [ 1000
5 [LUAEPEH T #m2| 1.900/ 8400 1.800| 0.800] 27.000
4990 | Z8 S| BEERBT 1000] -24 -6 -2 -2565 | 1000
5 |EBEEXxS #m2| 1.900| 6.900[ 1.800| 0.800| 29.000
4991 | Hg-5|HEEFRIFZFI[LRExvyr |[1000] -24 -6 -2 -2565 | 1000
5 |EBEXS #m2| 1.900/ 8.400[ 1.800| 0.800| 27.000
4993 | H8-5(HEMERIRELET 1000] -24 -6 -25 | -2565 [ 1000
5 |U#EbEET #m2| 1.500] 4.500[ 2.700| 0.800| 33.000
4994 | H8-5|HEEMEHIT[RErvr] 1000] -24 -6 -25 | -2565 | 1000
5 [T #m2| 1500 6.100] 2.700] 0.800] 28.000
4995 | Hg-5(HEMEAIEST 1000] -24 -6 -2 -2565 | 1000
5 |Z@EXE #m2| 1500 45000 2.700| 0.800] 33.000
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HHEh [I-FNo % b 1ERK TR EMES TR H (RRENREECFEMESI 121 T)
No. |TEEH 5] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 it =
4996 | H8-5|HEEMEHI[RErvr]1000] -24 -6 -2 -2565 | 1000
TREXE #m2| 1500/ 6.100f 2.700| 0.800| 28.000
4998 | H8-5|FHETEMMEZET | 1000| -24 -6 -25 | -2565 | 1000
LLAEPBET #m2| 1.600] 7.000[ 1.300| 1.400| 34.000
4999 | #H8-5|xmenmpmEsIizesyr | 100.0] -24 -6 -25 | -2565 | 1000
IR T #m2| 1.600] 8.500[ 1.300] 1.400| 31.000
5000 | #8-5|FFuTESMESZT | 1000] -24 -6 -2 -2565 | 1000
5 |EEEXS #m2] 1.600] 7.000] 1.300| 1.400| 34.000
5001 | #8-5|FmamrmmargTisesor] | 1000] -24 -6 -2 -2565 | 1000
5 |EEEXS _ #m2| 1.600] 8500 1.300| 1.400] 31.000
5003 | #8-6|FvybUA—IRIHT 100 | -24 -6 -25 1000
4  |IUMEMEET m 0.100f 0.400| 0.400{ 21.000
5004 | #8-6|F¥yboAr—URBHT 100 -24 -6 -2 1000
4 |EBEEXS m 0.100f 0.400| 0.400{ 21.000
5008 *307_07 # - A GE A —LTHER) 100 _24 _6 _2 1000
4 |EEExS m 1.130 5.990] 1.810| 0.010
5009 [$207-07[rssumasa-nac we—vesm | 100 | —24 -6 -25 1000
4  |IWMEEET m 1.130f 5.990] 1.810| 0.010
5010 [1207-07|[{I R FREMEREMER [100.0] 2861 | 2862 | 2863 | 2864 | 2865 | 2866 100m% x 10 H
_6 m-tia| 142.700] 23.500| 4.300| 41.500] 70.400| 9.600
5011 [$207-07|rsmmmeeras s (kas) | 100 | 2867 | 2868 | 2869 | 2870 | 2871 | 2872
6 |#I[ERE m | 142.700] 23.500| 4.300| 41.500] 70.400| 9.600
5013 |$207-06| TERENRE (FFEER) [1000.0] -24 -25 5037 | 1000 Sk £
4 BH-080MR(LTE) RE BT m 0.130 0.290 0.780 2.000
5014 |$207-06| TEX I ARE (FFEEF) [1000.0] -24 -25 5037 | 1000 B A &
4 BH=0.80ri#k (LLAK) BXE@EA500r Lk 1,000m K (WHEET n"|2 01 30 0290 0500 2000
5015 [207-06| TR AKRE (FEEH) [10000] -24 -25 5037 | 1000 BEE S AR ER
4 BH=0.80m #k (LLH%) BREEH1,000m L E3000m KMl WHBNT rﬁ 01 30 0290 031 0 2000
5016 [$207-06|t#xmmiE rTmED- & | 10000] -24 -25 5037 | 1000 B A &
_ 4 BH=0.80m#R(LIH) 500miskid WHEEET m 0.220 1.350 1.140 2.000
5017 |$207-06|t=xsmiE (teTm@Ea-xms |1000.0] -24 -25 5037 | 1000 BEh A oY
4 BH-0.80m§R(LIED) 500miLLE 1000 ILIHBEET m 0.220 1.350 0.820 2.000
5018 |$207-06|r=xmmrE teTwmEn-xms |1000.0] -24 -25 5037 | 1000 HEHE A AR ER
4 BH=0.80m £R(LUFE) 1000m L1 E4000m LT LLAENES T rﬁ 0220 1350 0360 2000
5019 [{207-04| RERE-BEE 10 | -2896 | -2894 | 1000 2
4 |EBEES &Ar] 0026/ 0.016] 3.000] 1.500
5020 ({207-04|REFIRE-BEE 10 | -2896 | —2894 | 1000 25
4  WLMEEET AT | 0026/ 0016] 3.000] 1.500
5022 [1207-06]| A NRE 100 | -24 -25 1000
3 |ILUFEBET m3 0.040| 0.430| 2.000
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No. |TEEH®| % Bl 1 2 3 4 5 6 7 8 9 10 [ 11 [ 12 [ 13 | 14 | 15 | 16 i Z
5023 [$207-06| N HBRSE 100 ] -24 -2 1000
3 |EBEXS m3 0.040| 0.430[ 2.000
5025 [207-06| TERXEAKRE (FEEH) [10000] -24 -2 5037 | 1000 HEAH R 5t R B
4 BH=0 80 (LT RS iR EAEEA m 0.130 0.290 0.780 2.000
5026 |1207-06| TERXREANRE (FFEER) [1000.0] -24 -2 5037 | 1000 HEH AR RE
4 lovossmmum sammsmmsiomss ssega | M 0.130] 0.290] 0.500] 2.000
5027 |$207-06| TEREANRE (FFEER) [1000.0] -24 -2 5037 1000 HEH D AT EE
4 BH=0.80mi#% (LK) BREM@H1,000nm LLE3 000 kil HBIERXR rﬁ2 01 30 0290 031 0 2000
5029 |$207-06|rsxumkE (trTm@n-zms 1000.0] -24 -2 5037 | 1000 HEH AR
_ 4 BH=0.80m#R(LH) 500nikid HEERE m 0.220 1.350 1.140 2.000
5030 |$207-06|rsxsmrE (trTm@En-xms |1000.0] -24 -2 5037 | 1000 AR5t R B
4 |ow-osonisoum soomisitiooonizs wmmxa | M 0.220( 1.350| 0.820[ 2.000
5031 [207-06|t#xmmrE rTwmz-z=sm |1000.0] -24 -2 5037 | 1000 HEH A A xR
4 BH=0.80m #R(LLIFE) 1000 LI L4000 LIF HiliEER rﬁ 0220 1350 0360 2000
5033 [207-06|IRIGEMERIR T 10 | 5038 HEAH R xR B
1 Ly v s semom-as | kM 1.340
5034 [207-06|IRISEMIRIR T 10 | 5038 HEA AT
1 |nns oo sesrisssonss saxecsess | KM 0.420
5035 [1207-06| R EMERRE 1.0 | 5038 B AT R
1 Loy v s isnmns samom—smr | kM 1.520
5036 |1207-06| B i5 8 TRER TG = 10 | 5038 BB A a2l
T enes oo memnismsssonss sesmer | kM 0.820
5037 |1207-06|/\v IR BEn iR B 1.0 13 99 2832
3 1110.80m3 (F0.60m3) HEtHH RFHHE (201455 H 1.000| 107.000 1.640
5038 [1207-06[7hA—)LO—45EEREE | 1.0 13 99 2833
3 13~ 1AM HEA R AR (2011 F385)) H 1.000] 44.000] 4.730
5040 | H8-10|2hektRERE - E 1000 -24 -6 -2 -5041 [ 1000 IR EH -2
5 m2 0.290| 0.290| 0.290[ 0.290| 1.000
5041 | £8-10[/ "ok EEniR & (#ekiR)| 1.0 13 99 2459 BEEIE
3 HE—SBL0S0MA(HL—2 2.9t/ [0%]104kw H 1.000| 119.000 1.060
5046 | 8-8|{REALVEEE-# (WWMEEET) | 10.0 | -5049 | -5050 [ 1000 &M 1E ¥ Rl iR AR
3 |H=30m A/SATFEhiTAARK| m 10.000| 10.000| 10.000
5047 | #8-8|{RELEZE-#E (T@EELE)| 100 | -5052 [ 5053 | 1000 KRR R
H=3.0m /84 FLhiTiAAEX| m 10.000] 10.000| 10.000
5049 | #8-8-1|{REHL R E (LLUAAEMFFI) | 10.0 24 25
2 |H=30m ASATEiTAHRK| m 0.290] 1.430
5050 (#t8-8-1[{RBEHLMEIE (LUARERFFI)| 10.0 24 25
2 |H=30m ASATFEhiTAHRK| m 0.200] 1.020
5052 [#t8-8-1|{xEALVERE (K @1EEE)| 100 24 2
2 |H=30m A/SATEHITAAK]| m 0.290| 1.430
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No. |TEEH 5] -4 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 it =
5053 |it8-8-1|{xBEALVEIE (F@{EXEE)| 100 24 2
2 |H=30m A/SATEhITAARK| m 0.200]  1.020
5057 |$£8-8-2| BN K EHEILREE 1.0 | 2748 99 0.123L/KWh X 4KW
2 T4—HEILIUUUERH). 27/3kvA[ H 1.210] 9.070
5058 |$8-8-2|PTyiE—A2—BEHRE | 1.0 101 2544 3.62/h X 18.5h=66.62
2 2 - SR T 1 26MJ/h(30,100kcal /h) H 66.600 1.200
5059 |#£8-8-2|=®irmE. & - WEWHBED | 1000]| -24 -25 | -5065 | 1000
4 |PR4AT m2 1100/ 4.700] 0.600| 22.000
5060 |3t8-8-2|=®frmE. & - WAWHBED | 1000] -24 -6 -25 | -2565 | 1000
5 |W-PWRAT ##ERIGER[ m2 2200 9.600| 6.700] 0.200| 26.000
5061 [3t8-8-2|=®rmE. & wAEWHBH D) | 1000] -24 -6 -25 | -2565 | 1000
5 [wW-Pwi4T BARIBLUS[ m2 1.100{ 4.500{ 2.500| 0.200| 14.000
5062 |1t8-8-2|=wmrmE. E - wEEEELE) | 1000] -24 -2 | -5065 [ 1000
4 |PRAT m2 1.100f 4.700] 0.600| 22.000
5063 |1t8-8-2|=mmrmE. E - wEEERLE) | 1000] -24 -6 -2 -2565 | 1000
5 |W-PWAALT #HHRIGER| m2 2.200f 9.600] 6.700[ 0.200| 26.000
5064 |1t8-8-2|=mmmE, E BEEERLE) | 1000] -24 -6 -2 -2565 | 1000
5 |w-Pwi4T BARIBLUS| m2 1100 4.500[ 2.500| 0.200| 14.000
5065 |1£8-8-2|/\yuky B E(EERE| 1.0 13 99 2459 EESIE
3 -0—5%(110.80m £R)(HL—>,2.9t /) [0%] 104kw El 0.250 1 7.000 1 .020
5066 |H8-8-2|mmzsTrEL W rvre—s—2x) [ 10.0 5058 5057 2
3 [Uzubb—s—(126MI/h30100kac/) | M 1.600f 1.600] 0.150
5067 |#£8-8-2|kET (REVERE Wik | 10.0 25 REVLERERIZ50
1 |PALAT WEAT . PWEALF|[ m3 0.410
5068 |#£8-8-2|kET (REVERE ZH@E#Axa| 10.0 2 KEUEBIRERIZ50
1 |PAAT WEAT . PWEAF|[ m3 0.410
5075 |sm07-14-100] BEIA FF $ T 2R 100 | 3285 25 IR BEK#
2 BB 30m/m X 250m/m X 2/4m  LLIAKESRE T m 10.000 0.030
5076 |saor-14-100| 2 3A M I FH 2R 100 | 3286 25 SR BEKH
2 @IRHAM 50m/m x 250m/mx 2/4m WHBHT | M 10.000 0.030
5077 |sttor-14-100| X 13 2% 100 | 3285 2 KT
2 SRR 30m/mx 250m/mx2/4m EAAEEA | M 10.000 0.030
5078 |su07-14-100| 2 3A R Fp 2% 100 | 3286 2 AR HEK#
2 SRR 50m/mx 250m/mx2/4m ERAEER | M 10.000 0.030
5079 |saor-14-100| FRAKHEK# R E 100 | 3283 25
2 FRIRPEKA 35m/m X 170m/m X 25m  LLIAKESRE T m 10.000 0.030
5080 |sor-14-100| KRR BEK M ER B 100 | 3283 2
2 SAREEAM 35m/mx 170m/mx25m EEEEE | M 10.000 0.030
5082 |;zor-14-200|FFARFO— )L B HEKA B[ 100.0 24 25
2 300 X 300mm(bHE B £ BIEEH L), LWABET m 0.370 1.020
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5083 |izo7-14-200| FFARFO— )L ZHEKHRE | 100.0 24 2
2 300 X 300mm(HH 4 B I BIRE L), BBIELE m 0.370 1.020
5087 | A4-1|F -0 v klEEER 10 | 5093 | 5095 | 2355 | 5100 | 5097 INOE
5 [ME= 5.5kw, # b H 1,000 1.000[ 1.000] 1.000] 1.000
5088 | A4-1|Hh—1vr v UEkiEEER 1.0 | 2261 2253 | 2355 | 5100 | 5097 IN=E:3
5 [MES 5.5kw. i =] 1,000 1.000/ 1.000] 1.000] 1.000
5089 | A4-2|F YV IV EkEEER 10 | 5094 | 5096 | 2365 | 5100 | 5097 hO%
5 |ERK 11kw, #h E =] 1,000 1.000[ 1.000] 1.000] 1.000
5000 | &4-2[F Vv Ivu&iEEER 10 | 2262 | 2254 | 2365 | 5100 | 5097 haO%
5 [mEZ 11kw. 1A =] 1,000 1.000[ 1.000| 1.000] 1.000 _
5001 | B4-3|% —)o7 ¥R le e e 1.0 | 2266 | 2771 5098 RO
3 [hER 19kw, fBIEL H 1.340| 1.420[ 1.000
5002 [ B4-3[F vy v UERiEERR 10 | 2268 | 2771 5099 KOE
3 AER 30kw, f#BIEL B 1.340| 1.420{ 1.000
5093 | A4-1|K v IV EER 1.0 99 2261 INOFE, H#E 0.88¢
2 |ihER 5.5kw =] 5.600] 1.000
5094 | B4-2|K v IV EER 10 99 2262 hOE. mE 170
2 HERK 11kw =] 10.900|  1.000
5005 | ;&4-1|939bR2 78R 1.0 99 2253 HhOFE, #E 0207
2 [HERE 30~70L/min =] 5.300] 1.000
5006 | ;B4-2|759MKR2 T 5EEr 1.0 99 2254 hO&Z. #E 0207
2 |4#F_5EE) 37~100L/min| H 10.600[ 1.000
5097 |saa-1. 42| RENFE EAEE SR 1.0 99 2534 IR OE 5.20/h
2 |74—t'Ib.45kVA B | 33.0000 1.000
5098 | JA4-3|RENFEEMEE 1.0 99 2536 KOE
2 |74—t'Ib, 75kVA B | 37.000] 1.300
5099 | JA4-3|REIFEEMEE 1.0 99 2537 KOE
2 |7 4—1t'Jl. 100kVA =] 60.000]  1.300
5100 |sa4-1.4-2|$87KR T &8x 10 100 2348 Bk 1.62/h
2 |O%80mm 5FE30m =] 10.200| 1.000 ~
5101 | 843 0K bt E B % 1.0 24 6 1 25 2563 KO
5 |57FL—roL—2EA| & 1,000 1.000f 2.000| 2.000| 1.000
5102 | B4-3[O<CoHRE - BE 1.0 24 6 1 25 2771 | 5098 XAE
6 |FEFEH 19kw 2= 1,000 3.000] 2.500] 3.500( 1.500] 1.500
5103 | ;B4-3[OCoHRE-HE 1.0 24 6 1 25 2771 | 5099 XORFE
6 |FEFEF 30kw P 1.000) 3.000f 2.500| 3.500[ 1.500| 1.500
5115 [#5-9-2|@H -7 VoL —BiEE| 10 1 99 2411 EMERE
3 |1.0t8 9.2kw =] 1.000/ 6.000] 1.530
5116 |#5-9-2|@gr-7voL— BB #xzE| 1.0 -6 -25 1000
3 |[1.0tH 9.2kw E | 20000] 20.000] 8.000
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No. [IEEZK fE] % B 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 i =

5120 [3£5-9-2|&#8-0—TJ%®kEQ0mKH) [ 100.0] 24 5 2548 FSuhHL—248
3 |ERLE P3.2¢50%50mm | m2 1.060] 7.450[ 0.430

5121 |#£5-9-2|&#8-0—T%®%ECQOmEH) [ 100.0] 24 5 2548 FSuhhL—248
3 |ERSE G 40%50%x50mm | m2 1.270| 8.860/ 0510

5122 | #5-9-2|&#-0—F%%BE(0~35m*ki%) | 1000 24 5 2564 SOFL——2
3 |ERSEG3.2¢50%x50mm | m2 1.060| 7.450/ 0.430

5123 | #5-9-2|&#8-0—T%H%BE(0~35m*%i%) | 100.0 24 5 2564 SITFL—o90—>
3 |ERLSE G 40x50%x50mm | m2 1.270| 8.860| 0.510

5124 |$£5-9-2(&M@-n—J%xBE@G5~45mFET)| 100.0] 24 5 2566 SIOFL—o0—>
3 |ERESHEG3.2%50%x50mm | m?2 1.060| 7.450[ 0.430

5125 |#5-9-2|&#8-0—T%HBE(35~45mET) | 100.0 24 5 2566 ST7TFL—29L—2
3 |EREH G 4.0£50450mm | m2 1.270| 8.860[ 0.510

5126 |$£5-9-2|&#8-0—T%%BE@5mET) | 1000] 24 5 5115 BT VL —
3 |EREHE P 3.2%50%50mm | m2 1.060( 7.450 1.060

5127 [#£5-9-2|&#8-0—T%%EW@5mET) | 1000] 24 5 5115 BEEr—T VL —
3 |EREEP4.0%x50%50mm | m2 1.270] 8.860[ 1.270

5131 [#5-9-2|[)L—DF h—(BBKRE| 1.0 -5 1000
2 X 0.380| 11.000

5132 [#i0-07-20| EL T H—RE 1.0 5
1 _ _ Z 0.040

5134 |#£5-9-2[PBEMA T Hh—FHE 10 5
1 7 0.310

5135 |s10-07-200| TR P H—ERE 1.0 5
1 X 0.230

5136 |#£5-92[fHs 7 h—RE 1.0 5
1 #A 0.380

5137 |#ts-9-2010)| Ry b SH)sHL- 22 1.0 24 5
2 #A 0.050| 0.300

5148 [st5-11(n|FE AR T B THERERR | 100 24 2 2 I DN
3 |AAMI Gw-06 ETEEZE| m?2 0.050] 1.030| 1.080

5149 |35-11(1)| /1 55 oM B8 T 28 L e e 10.0 24 2 2 NAZEL - NP
3 |AAET ow-09 TEAEZE| m2 0.050[ 1.230] 1.620

5150 [#5-110)| A LB THEREER | 100 | 24 2 2 K FE - NSt
3 |AAET aw-12 TEEZE| m2 0.050[ 1.430] 2.160

5151 [st5-11(n| B BHME T BT ERE | 100 24 2 2 ANIFEsL - NS e
3 |ASMT GW-06 EEEZE| m2 0.100[ 1.360| 1.080

5152 |#5-11(n| S MM T B TEREE | 100 24 2 2 NAWEL- NS P
3 |AABT GW-09 EEEZE| m2 0.100] 1.560| 1.620

5153 [#t5-11()|EZMBE T BT AREL | 100 | 24 2 2 AHHIL- ANAREE
3 |AAEI ow-12 TEEZE| m2 0.100| 1.660| 2.160
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#H # — B =
> - 1 3 REEMES - FNRESLE (RRENREHLEMES
ﬁf* ?—E %; % % ﬁg : . Ls%m: &S FREDE (AR ENRIEH < LEmE s |&113)
5154 |35-11(2)| o 53 Mo T 28 LRz ek | 100 | 24 2 2 40411 : - ! - : = = = = = = 2 T =
4 BH=0.45m3#%k GW-06 L@EE%£E | m2 0.050 1.030 0.340 0.260 ATHRIL R
5155 | %5-112)| B oM Bl T 2 T HEEERER | 100 | 24 2 2 | 4011 i :
4 |BH04smagm cw-00 mE#EEA | M2 0.050| 1.230] 0.510] 0.390 ASRBIL RS
5156 | #5-112)| i oM Bl T 2 T JEEZER | 100 | 24 2 2 4011 R E
4 BH=045m3#k GW-12 L@#E%X8 | m2 0.050 1.430 0.680 0.520 AT R
5157 |#5-10)| i 5 aMa T B T EREER | 100 | 24 2 2 4011 T ERE
4 BH=0.45m3#%k GW-06 ZLiE{r%8 | m2 0.100 1.360 0.340 0.260 ATHRL B
5158 | #5-112)| i G am Bl T 2 T EHEER | 100 | 24 2 2 | 4011 T EREE
- 4 ( )BH=§5:3ﬁfi j(;v;]—jog %ﬁi’ﬁfﬂﬁ m2 0.100| 1.560| 0510| 0.390 AL RS
#5-112)| B8 G S T 8 T o he g 100 24 2 2 4011 RS |
4 BH=045m3#k GW-12 E@E#EZE | m2 0.100 1.660 0.680 0.520 AT IS
5160 |#5-112)|E e Bl T T HEEER) | 100 | 24 2 2 | 4013 R TE
4 BH=0.80m3#%k GW-06 EiE/%8 | m2 0.050 1.030 0.340 0.150 ATHRIL R
5161 |#5-112)|F G am Bl T B THERE2R | 100 | 24 2 2 | 4013 R
4 |BH=080m3#% GW-09 EEMEEE | M2 0.050| 1.230] 0.510] 0.230 AT RS
5162 |#5-112)| i s am Bl T B THEEEp | 100 | 24 2 2 | 4013 R
4 BH=0.80m3#%k GW-12 L@E#EZE | m2 0.050 1.430 0.680 0.300 ATHRIL R
5163 |#5-110)| i HaMA T B TEREER | 100 | 24 2 2 4013 i :
4 BH=0.80m3#k GW-06 EL@E%xE | m2 0.100 1.360 0.340 0.150 AT R3S
5164 |#5-11) | RMBE LB TEES | 100 24 2 2 4013 Z
4 BH=0.80m3#%k GW-09 EL:@E#E%x8 | m2 0.100 1.560 0.510 0.230 AT R
5165 |#5-11)|E S LB TEREE | 100 24 2 2 4013 V2 o s
4 BH=0.80m3#% GW-12 EZ:@#E£E | m2 0.100 1.660 0.680 0.300 ATHRLL RS
5175 | morno| Bl (B E) 1000 -1 —2 | 1000 '
- 3 Eﬁﬂ@%‘iﬁ&:mcmiiﬁ X 0.230] 0.230] 6.000 BALE
6 |as--nen|{REI(SE) 100.0 -1 -2 1000 7
3 |FwmmEE ompbieemkiE | A 0.320| 0.320[ 6.000 BATE
5177 [sss-neo| R B (ZF) 1000 -1 -2 1000 3
TR ER: 16emilE22emkid | A 0.420| 0.420| 6.000 B
5178 | a1 B (B2 ) 1000] -1 —2 | 1000 E
3 |rwmmmeE comurosmks| A 0.520| 0.520| 6.000 BATE
5179 [sas1-non| R EI(SE) 1000 -1 -2 1000 ;
3 | EHmEERE:28mlE | K 0.630] 0.630| 6.000 BALE
5180 |wms--nwe| i 3h (B%E) 1000 -1 -2 1000 7
3 | TFHREER:10mKE [ & 0.210| 0.210[ 8.000 BALE
5181 [s1-1100|FIh (BFE) 1000 -1 -2 1000 :
3 |rwmmsez omutiemks | K 0.240| 0.240| 8.000 BALE
5182 |wmst-nwa| X 3h (BE) 1000 -1 -2 1000 ;
3 |TummEeE emutoomis| A 0.280| 0.280| 8.000 BAIE
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No. [IEEZK fE] % B 2 12 13 14 15 16 i =
5183 | ms1-nwo| IR Th (B8 ) 1000] -1 -2 1000 RAMNE
3 |rwmmEeE comy rosmks| A 0.310| 0.310] 8.000
5184 |ms1-noo| L (BE) 1000| -1 -2 1000 RAME
3 | TFHREER:28cmllE | K 0.350/ 0.350[ 8.000
5185 [sas-1-nws| AT (&) 1000 -2 1000 EAMNE
2 | EHWEERZ 10mEkRH | K 0.300] 1.000
5186 [sms-1-ns| A 1T (BE) 1000 -2 1000 EANE
2 | TwmmEE omulbieemki | A 0.390| 1.000
5187 | s-1-ns| F {5 (%) 1000] -2 1000 RAWIE
2 FHEEE: 16eml E22emEiE | A 0.510 1.000
5188 |msr-noo| B 1T (B8 ) T000] -2 | 1000 R
2 |FmmEE 22mplbemEi | A 0.620( 1.000
5189 |sts-i-11s| F {4 (B%&) 1000 -2 1000 RAIIE
2 | FHWESERE:28cmllE [ K 0.710]  1.000
5190 |sas-1-1100| EM (Bl ZR) 10.0 13 2 RARIIE
2 MR - 100mL L 160m3k . 44 2EE200m BLAY m 0.480 0.970
5193 |10 KRB ARBILA LITHI| 1.0 24 2
2 | AH#AsL m3 0.030| 0.190
5194 |50 KB ARBWSA LTI 1.0 24 2 5195
3 /Ny ORI m3 0.020| 0.120| 0.090
5195 |+ T#i@E|/\wIRDBERE (£@)| 1.0 13 99 2149 690/110=6.3h/ H
3 s - | B ] o0.160] 16.000] 1.000
5196 |r-12xesm| REMZ AR ALY LTEE 1.0 2 4013 EaXREEE
2 7347 1110.80m3(F0.60m3) m3 0.140] 0.130
5197 [1203-02| REIE R IRFZE 1.0 | 3353 2
2 |(BBEEXS) " 1.000{ 0.140
5201 [#£7-1-6 xﬁz&%-t:tmlffﬂ_L 10.0 24 2 4011 ERFREEE
3 |EREGEHE m3 0.430| 3.530] 2.310
5202 [#7-1-6 K%&ﬁ't:taalfrﬂ_L 10.0 24 2 4011 B NG E
3 |[+HdEE m3 0.430| 2.680] 1.960
5212 |#k2-1-4| i 2R RESREE | 100 | 24 2 3355 T I -WELAE
3 L o s pncsmroonann sissomanom | BE 1.100]  3.700| 10.000
5213 |1207-05| ReIAZE F ISR E - T= | 10.0 | 3359 | 3360 2
3 13450 X 1,500mm 4 #h: #E 6 K—)L30m PPHEME 2': 10000 10000 0300
5220 *ok ok UHIARIL(A) * %% GEAN)
5221 [sa1-1-a)|m-moEt #tet-mem+ wiE | 1.0 | 4315
1 oies mewensusmemsmasaiesns susman e | M3_|=148.000
5222 ;e1-1-4<1>7a—1§a 5 §XE(I)A #J?ﬁ 1.0 | 4315
1 s sanimenmas s susms s | M3 |=113.000

P. 39




15

i — L &
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